UPPOLICE Computer Operator
Main Exam Sept2017 Setl

Topic:- CompOp_MainExam_Setl_GK

1) The chairman of the planning commission also holds this position:-

ST STANT & 3eHe] 370 | TP UG &1 WY YRUT H3d 8-
[Question ID = 327301]

1. President of India / 4R & AFUI [Option ID = 1252934]
2. Prime Minister / &TH! [Option ID = 1252935]

3. Finance Minister / fa=1 #3t [Option ID = 1252936]

4. Home Miniter / 7§ |3 [Option ID = 1252937]

Correct Answer :-
« Prime Minister / T&TAHT [Option ID = 1252935]

2) India’s official crime data is maintained by which of the following establishments?

frrafafad f5a IR & gRT HRd F TP AWIUS ATHS BT IQ-I@Nd [T SrdT 82
[Question ID = 327302]

1. NCRB [Option ID = 1252938]

2. NIA [Option ID = 1252939]

3. CBI [Option ID = 1252940]

4. None of these / ERiE ﬁ% off &t [Option ID = 1252941]

Correct Answer :-
* NCRB [Option ID = 1252938]

3) Which country won the maximum number of medals in 2016 Olympics?

o 3=1 7 2016 SiiGfeT # W SUTGT U Sild? [Question ID = 327303]

1. USA [Option ID = 1252942]
2. UK [Option ID = 1252943]

3. Russia / =¥ [Option ID = 1252944]
4. China / 99 [Option ID = 1252945]

Correct Answer :-
e USA [Option ID = 1252942]


https://applink.adda247.com/d/XhqWf9lSap

The Hill Station “Kalimpong” is in the state of:-

UgTS! I ‘SiaHuT frg wsg § UG 82 [Question ID = 327304]

1. Meghalaya / 23| [N [Option ID = 1252946]

2. West Bengal / ufgg-dme [Option ID = 1252947]
3. Tamilnadu / ARSI [Option ID = 1252948]

4. Rajasthan / ISR [Option ID = 1252949]

Correct Answer :-
» West Bengal / UfgH-se [Option ID = 1252947]

5) How many years is Saka era behind Christian era?

H T 3913 9 A fhat guf i 82 [Question ID = 327305]

1. 78 [Option ID = 1252950]

2. 100 [Option ID = 1252951]

3. 65 [Option ID = 1252952]

4. None of these / 378 ¥ P13 ) 8T [Option ID = 1252953]

Correct Answer :-
e 78 [Option ID = 1252950]

6) Which city in India will have the first Rail Auto hub?

YRd & 5 g A ugan ¥ 3iiel g4 gr?
[Question ID = 327306]

1. Mumbai / §&% [Option ID = 1252954]

2. Chennai / @98 [Option ID = 1252955]

3. Guwahati / TdT8T¢T [Option ID = 1252956]
4. Varanasi / 9RY [Option ID = 1252957]

Correct Answer :-
e Chennai / EPES [Option ID = 1252955]

7) How many types of emergency have been mentioned in the consititution of India?

YR & Jfau™ & fhda TR & SATUTdPTd BT Il 22
[Question ID = 327307]

1. Four / TR [Option ID = 1252958]
2. Two / &l [Option ID = 1252959]

3. Five / Ui [Option ID = 1252960]
4. Three / M [Option ID = 1252961]

Correct Answer :-
« Three / dIH [Option ID = 1252961]


https://applink.adda247.com/d/XhqWf9lSap

8) Sudirman cup is related to which sports?

FERAT $U f5y Wa A GrafRd 82 [Question ID = 327308]

1. Badminton / S8fH= [Option ID = 1252962]

2. Hockey / 81! [Option ID = 1252963]

3. Football / eald [Option ID = 1252964]

4. None of these / AR Y ﬁ'sc ot &t [Option ID = 1252965]

Correct Answer :-
« Badminton / S8l [Option ID = 1252962]

9) Prime Minister Modi announced the demonitization of Rs. 500 and Rs. 1000 on

UYTTHAT HIET A 500 TUT 1000 & e & fagsiw<or 3 giyon Cakall

[Question ID = 327309]

1. 8t November 2016 / 8 Td&R 2016 [Option ID = 1252966]
2. 8t October 2016 / 8 3fd¢aR 2016 [Option ID = 1252967]
3. 10t November 2016 / 10 -IdeR 2016 [Option ID = 1252968]
4. 15t December 2016 / 15 fq¥aR 2016 [Option ID = 1252969]

Correct Answer :-
« 8™ November 2016 / 8 ISR 2016 [Option ID = 1252966]

10) When is Swachh BHARAT ABHIYAN celebrated?

Py o W= URd ™= 94T T2

[Question ID = 327310]

1. 2" October / 2 3{d¢aR [Option ID = 1252970]
2. 5t October / 5 3{gsR [Option ID = 1252971]
3. 12t December /12 fGHWR [Option ID = 1252972]
4. 151 August / 15 3T [Option ID = 1252973]

Correct Answer :-
« 2N October / 2 3SR [Option ID = 1252970]

11) Internet banking can be used for:-

geqe dfhT o1 swwTa foar S g:-

[Question ID = 327311]

1. Checking account balance / 3(T3e Said S & oY [Option ID = 1252974]

2. Request a chequebook / EED g 31':]33[?! % forg [Option ID = 1252975]

3. Payment at online shopping / N IS IERRCRI AN HIdq & ferg [Option ID = 1252976]
4. All of these / Tt fdded [Option ID = 1252977]


https://applink.adda247.com/d/XhqWf9lSap

Correct Answer :-
« Al of these / 4t fd®ed [Option ID = 1252977]

12) Digital Wallet can be used for:-

feforea afae o1 ITaNT sH forg fan &1 & @:-
[Question ID = 327312]

1. Pay for things / T¥g3{f ! Tie & T [Option ID = 1252978]

2. Protect against theft / IRt ¥ &= & T [Option ID = 1252979]

3. Manage your finances / 3O O BT UYT B B fam [Option ID = 1252980]
4. All of these / I+ fd@ed [Option ID = 1252981]

Correct Answer :-
« All of these / G4t fa®ed [Option ID = 1252981]

13) As per the recent data, the most populous country in the world is:-

T & Bl & ATAR, AT BT HIH TUF SATETS! qTaT S 32
[Question ID = 327313]

1. India / HRRd [Option ID = 1252982]

2. China / 91 [Option ID = 1252983]

3. United States / ¥gad I [Option ID = 1252984]
4. Russia / ¥4 [Option ID = 1252985]

Correct Answer :-
« China / ©H [Option ID = 1252983]

14) Illegal copying and distribution of software is called:-

TIrEAWR &1 R S APd Td o 3:-
[Question ID = 327314]

1. Cracking / {5 [Option ID = 1252986]

2. Hacking / 8fdT [Option ID = 1252987]

3. Plagiarism / @RIRSH [Option ID = 1252988]

4. Software piracy / ATcdaR UIRYYT [Option ID = 1252989]

Correct Answer :-
« Software piracy / GTFcdTR TIR¥H! [Option ID = 1252989]

15) Which Veda deals with music?

frafafed & @ Si9-a1 3¢ @il & g=Ra 22

[Question ID = 327315]


https://applink.adda247.com/d/XhqWf9lSap

1. Rig Veda / F%dg [Option ID = 1252990]

2. Sama Veda / 94 [Option ID = 1252991]

3. Yajur Veda / T9dg [Option ID = 1252992]

4. Atharva Veda / 3f4ddg [Option ID = 1252993]

Correct Answer :-
« Sama Veda / 9THd< [Option ID = 1252991]

16) The women's Football team who won the gold medal at the Rio Olympics 2016, represents
which country?

Y ai<ifie 2016 A vl ugw SHax arclt afgar peara &, frw Iz &1 ufafiftca o=t 82
[Question ID = 327316]

1. Germany / S [Option ID = 1252994]

2. Great Britain / fsic=1 [Option ID = 1252995]
3. France / 19 [Option ID = 1252996]

4. Sweden / & [Option ID = 1252997]

Correct Answer :-
« Germany / STHHT [Option ID = 1252994]

17) Under whose leadership in India was the Indus water treaty signed in 1960?

YR ¥ fast srememar & 9 1960 # Ry 7 wagha W gwaier fBar mar
[Question ID = 327317]

1. Jawaharlal Nehru / SEIRNINERS [Option ID = 1252998]
2. Rajiv Gandhi / Irsiid TTieft [Option ID = 1252999]
3. Indira Gandhi / fe=1 TTieft [Option ID = 1253000]
4. None of these / 378 ¥ %15 ) 78T [Option ID = 1253001]

Correct Answer :-
« Jawaharlal Nehru / STaTEI@Td 8% [Option ID = 1252998]

18) In which year was the Universal Declaration Of Human Rights adopted?

AHAUSR ST ArdWe Nvones fSa o wWigd far mar

[Question ID = 327318]

1. 10t December 1948 / 10 f&T¥aR 1948 [Option ID = 1253002]
2. 22 December 1985 / 22 faTw R 1985 [Option ID = 1253003]
3. 3™ January 1980 / 3 SIHdRI 1980 [Option ID = 1253004]

4. 10t December 1950/ 10 faTaR 1950 [Option ID = 1253005]

Correct Answer :-
« 10t December 1948 / 10 fa¥=R 1948 [Option ID = 1253002]


https://applink.adda247.com/d/XhqWf9lSap

19) The Human Rights Commission meets for six weeks in this city every year:-

AFAIUSR T g% a9 B8 g0 & I 39 We” # fied 8:- [Question ID = 327319]

1. Geneva / fSHaT [Option ID = 1253006]

2. Berlin / Sfe [Option ID = 1253007]

3. Paris / 9f¥ [Option ID = 1253008]

4. Denmark / ST [Option ID = 1253009]

Correct Answer :-
« Geneva / fSHar [Option ID = 1253006]

20) From which country was the idea of the Fundamental Right In India Adopted?

YR A 5 331 A YanfUrer &) feaRuRT &1 o= 82
[Question ID = 327320]

1. England / $7d' [Option ID = 1253010]
2. France / 19 [Option ID = 1253011]

3. America / 3T [Option ID = 1253012]
4. Germany / S [Option ID = 1253013]

Correct Answer :-
« America / 3AR®T [Option ID = 1253012]

21) Find the mismatch.

TR gAfera &1 719 H1 [Question ID = 327321]

1. Gagan Narang - Shooting / "< 9RT - Qﬁ"[ [Option ID = 1253014]

2. Achanta Sharath Kamal — Table Tennis / 3/&<l1 IRY HHA - < -9 [Option ID = 1253015]
3. PV Sindhu — Badminton / Tt.dt. Y] - 9&ffe= [Option ID = 1253016]

4. Sakshi Malik — Weight Lifting / T1&ft Afetes - HRRIeH [Option ID = 1253017]

Correct Answer :-
« Sakshi Malik — Weight Lifting / T&ft Afci® - HRTIA [Option ID = 1253017]

22) Which was the first Indian News Paper to offer an online edition?

PIF-TT URAT THER-U & 99 Ugd ATTaATs YIHI0T SUAY §31T UT? [Question ID = 327322]

1. Hindustan Times / fg&d <1 [Option ID = 1253018]

2. The Times of India / & TIS® 3% $f&AT [Option ID = 1253019]
3. The Hindu / 31%*_5\{ [Option ID = 1253020]

4. The Indian Express / & $f&a TRIUN [Option ID = 1253021]

Correct Answer :-
« The Hindu / & 8 [Option ID = 1253020]

23) The main kingdom of Kanishka was:-


https://applink.adda247.com/d/XhqWf9lSap

ISP BT YW AT YUT:- [Question ID = 327323]

1. Purushpur / YUYR [Option ID = 1253022]
2. Alipur / 3fdqR [Option ID = 1253023]

3. Indraprastha / SZUR [Option ID = 1253024]
4. Prayag / YT [Option ID = 1253025]

Correct Answer :-
e Purushpur / IYYR [Option ID = 1253022]

24) Operation ‘Sankat Mochan’ was carried out by Union Government to evacuate Indian citizens
stranded in

Y IXPR GRT Y §U YR RS & fAaTem & o TR e dra= gamrn
T™T| [Question ID = 327324]

1. South Sudan / &f&oft §&8M & [Option ID = 1253026]
2. North Korea / 31 ST H [Option ID = 1253027]
3. Sri-Lanka / et o [Option ID = 1253028]

4. Pakistan / OTfded™ H [Option ID = 1253029]

Correct Answer :-
e South Sudan / cieroft s | [Option ID = 1253026]

25) The Kumbh Mela at Allahabad was initiated by which King?

SATEIEIG B $R A &1 Yo3UTd 5 Ie gR1 $t Wt <At
[Question ID = 327325]

1. Harshvardhan / g¥a¢/9 [Option ID = 1253030]

2. Dhruvasena / ga@? [Option ID = 1253031]

3. Narsimhavarman / TRRIgaH [Option ID = 1253032]
4. Akbar / 3haR [Option ID = 1253033]

Correct Answer :-
« Harshvardhan / 8¥a¢i [Option ID = 1253030]

26) What instrument is used to measure the intensity of earthquakes?

Y& $I dgar &) 7 & e e d &1 yah foan sian 82
[Question ID = 327326]

1. Siesmograph / R [Option ID = 1253034]

2. Quake meter / & Hiex [Option ID = 1253035]

3. Barometer / TR [Option ID = 1253036]

4. None of these / 378 ¥ ®Ig +}t 8T [Option ID = 1253037]

Correct Answer :-
» Siesmograph / [RRIpI [Option ID = 1253034]


https://applink.adda247.com/d/XhqWf9lSap

27) Which is the tallest peak in the Himalayan mountain range?

fewTer ydanTar # I99 S @R H19 491 82 [Question ID = 327327]

1. Hindu Kush / f8-g% =1 [Option ID = 1253038]

2. Mt Everest / AT3C TARIE [Option ID = 1253039]
3. Kunlun / g [Option ID = 1253040]

4. Tirich Mir / fTdR® HR [Option ID = 1253041]

Correct Answer :-
« Mt Everest / AT T [Option ID = 1253039]

28) Paul Betty won “2016 man booker prize” for his novel:-

Tid 921 7 3 {5 U= & R “2016 A9 §IR REHR™ Sid1? [Question ID = 327328]

1. The White Boy Shuffle / § e I TBA [Option ID = 1253042]
2. The Sell Out / § Id 3T3< [Option ID = 1253043]

3. Tuff / <% [Option ID = 1253044]

4. Slumber-land / TIFR-AUS [Option ID = 1253045]

Correct Answer :-
e The Sell Out / T T 33T [Option ID = 1253043]

29) Total number of articles in the Universal Declaration of Human rights are

AHAYPR & AdHfe sy # $o faq srgsdq 82 [Question ID = 327329]

1. 20 [Option ID = 1253046]
2. 30 [Option ID = 1253047]
3. 15 [Option ID = 1253048]
4. 24 [Option ID = 1253049]

Correct Answer :-
» 30 [Option ID = 1253047]

30) What is the minimum Age criteria for contesting for Presidentship in India?

R § Pufe &1 g9 as+ e =gmaw omg w82
[Question ID = 327330]

1. 35 years / 35 ¥Id [Option ID = 1253050]
2. 30 years / 30 HIcT [Option ID = 1253051]
3. 28 years / 28 ITd [Option ID = 1253052]
4. 21 years / 21 ¥ [Option ID = 1253053]

Correct Answer :-
e 35 years / 35 9Td [Option ID = 1253050]

31) Hiuen Tsang came to India from which place?


https://applink.adda247.com/d/XhqWf9lSap

A9 HIRA H fg VI ¥ 3112 [Question ID = 327331]

1. Japan / SUTF [Option ID = 1253054]
2. Tibet / ffsd [Option ID = 1253055]
3. China / 1 [Option ID = 1253056]
4, Tran / 39 [Option ID = 1253057]

Correct Answer :-
« China / ©H [Option ID = 1253056]

32) Name the first President of Indian National Congress.

HRATT T FHTUH & Uget A& BT ATH FT UT?
[Question ID = 327332]

1. George Yule / \_rﬁ\_rf?{lff [Option ID = 1253058]

2. M K Gandhi / T & TTieft [Option ID = 1253059]

3. WC Banerjee / S 41 §sif [Option ID = 1253060]

4. None of these / 378 ¥ P13 +} T8I [Option ID = 1253061]

Correct Answer :-
« WC Banerjee / Sﬁj\@rﬁﬂﬁﬁ[Option ID = 1253060]

33) In India which state has the largest legislative assembly?

YR & f5d g & Gad 87 faur= g1 82
[Question ID = 327333]

1. Maharashtra / HeRTY [Option ID = 1253062]

2. Uttar Pradesh / 3T} e [Option ID = 1253063]

3. West Bengal / f&# ST [Option ID = 1253064]

4. None of these / AR ﬁ'sc ot &t [Option ID = 1253065]

Correct Answer :-
« Uttar Pradesh / IR UeX [Option ID = 1253063]

34) As per Indus Water treaty, control over which three rivers were given to Pakistan?

Ry T gusia & AR fra = afeat w wifeswar &) fd=or fear mar?
[Question ID = 327334]

1. Ravi, Jhelum and Sutlej / Jdl, SIeTH Td Fddsl [Option ID = 1253066]

2. Ravi, Beas and Sutlej / 31dl, 399 Td aqsl [Option ID = 1253067]

3. Indus, Jhelum and Chenab / =], S/aH Td A1 [Option ID = 1253068]
4. Indus, Jhelum and Sutlej / R, ST Td Faqs [Option ID = 1253069]

Correct Answer :-
« Indus, Jhelum and Chenab / R}, S8 Td feHTa [Option ID = 1253068]


https://applink.adda247.com/d/XhqWf9lSap

35) The judicature of Guwahati High Court covers which state/states?

TATETd} S& <Tad & Hedd H b/ fh1 Irsa/wsal &Y wnfire f5ar 7am 82 [Question ID = 327335]

1. Arunachal Pradesh / SRBUTA U [Option ID = 1253070]
2. Nagaland / TFTIeIS [Option ID = 1253071]

3. Assam / 3IH [Option ID = 1253072]

4. All of these / Tt fdded [Option ID = 1253073]

Correct Answer :-
« All of these / 4t fd®ed [Option ID = 1253073]

36) The currency of China is:-

N B goT BT A 8-
[Question ID = 327336]

1. Yen / 39 [Option ID = 1253074]

2. Yuan / ga [Option ID = 1253075]

3. Rupees / ¥UUT [Option ID = 1253076]

4. None of these / 378 ¥ &3 +} &1 [Option ID = 1253077]

Correct Answer :-
» Yuan / gdM [Option ID = 1253075]

37) What was the place of India in world happiness index 2016?

fay o YRT &1 YIFAaT GIHIH 2016 H HIH-TT AT UT? [Question ID = 327337]

1. 118 [Option ID = 1253078]
2. 117 [Option ID = 1253079]
3. 119 [Option ID = 1253080]
4. 123 [Option ID = 1253081]

Correct Answer :-
e 118 [Option ID = 1253078]

38) Bandipur National Park is situated in which state?

SidIgR g S 5w g § R 82 [Question ID = 327338]

1. Kerala / 9%d [Option ID = 1253082]

2. Goa / TIraT [Option ID = 1253083]

3. Karnataka / @fcdb [Option ID = 1253084]
4. Maharashtra / HERTY [Option ID = 1253085]

Correct Answer :-
o Karnataka / Flch [Option ID = 1253084]


https://applink.adda247.com/d/XhqWf9lSap

Who is responsible for the excavation of the Harappan site?

TSWT Wl B GeTs &1 49 frg wrar 82
[Question ID = 327339]

1. Daya Ram Sahni / <1 {9 e [Option ID = 1253086]

2. Rakhaldas Banerjee/ IRATd g §if [Option ID = 1253087]
3. Mackey / % [Option ID = 1253088]

4. B K Thapar / &. & YT0R [Option ID = 1253089]

Correct Answer :-
« Daya Ram Sahni / 4T I/ A& [Option ID = 1253086]

40) West Bengal is bounded on the north by:-

Tf3H-sre SR # fha fRRT §3MT 82 [Question ID = 327340]

1. Sikkim and Bhutan / ffded g YT [Option ID = 1253090]

2. Assam and Bangladesh / &WQHEIWT?{QT [Option ID = 1253091]

3. Bay of Bengal / STITd &1 Wrs! [Option ID = 1253092]

4. Orissa, Bihar and Nepal / B?ﬁﬂT, fSgrR @ Jurd [Option ID = 1253093]

Correct Answer :-
« Sikkim and Bhutan / Rifd®%H Td Y™ [Option ID = 1253090]

Topic:- CompOp_MainExam_Set1_MAR

1) Find the next number in the given series.
& Y g | St HE [ Y|
1, 6,13, 22, _ [Question ID = 327483]

1. 32 [Option ID = 1253663]
2. 33 [Option ID = 1253664]
3. 31 [Option ID = 1253665]
4. 35 [Option ID = 1253666]

Correct Answer :-

e 33 [Option ID = 1253664]

2) Loock at the sequence of symbols and find the correct pattern.

FRI=el & Helod &l 50 HIT Tl UTRY o S &1 |

olel|aa|@@|5 2

[Question ID = 327484]


https://applink.adda247.com/d/XhqWf9lSap

1. [Option ID = 1253667]
|lll} -C."I

2. [Option ID = 1253668]
KD'\
%/

3. [Option ID = 1253669]
[l

4, [Option ID = 1253670]

Correct Answer :-

3) Film is related to director in the same way song is related to:-

At &1 & gy fFafar @ @ St a8t gva=y fia &1 {599 82 [Question ID = 327485]

1. Singer / 7% [Option ID = 1253671]

2. Producer / URdahdi [Option ID = 1253672]
3. Composer / Fifd®R [Option ID = 1253673]
4. Lyricist / Wild®R [Option ID = 1253674]

Correct Answer :-
« Composer / 9TlId®R [Option ID = 1253673]

4) An alphabet series is given with one term missing. Choose the correct alternative from the given
ones that will complete the series.

T quinTaT g & TS § R ve ug qu 21 R e e A ¥ 98 R g3, St iRaen 3 R am|

ZYX, WVU, TSR, [Question ID = 327486]

1. QPO [Option ID = 1253675]
2. NML [Option ID = 1253676]
3. OPQ [Option ID = 1253677]
4. LMN [Option ID = 1253678]

Correct Answer :-
e QPO [Option ID = 1253675]

5) Complete the below analogous pair.
= € TS SrgEy SISt B Q@ B

MoOn: nOoM :: StAr : Question ID = 327487]

— I


https://applink.adda247.com/d/XhqWf9lSap

1. RatS [Option ID = 1253679]
2. rAtS [Option ID = 1253680]
3. TaRs [Option ID = 1253681]
4. AtSr [Option ID = 1253682]

Correct Answer :-
e rAtS [Option ID = 1253680]

6) Pointing a photograph, A said to his friend B, "She is the only daughter of the father of my
mother." How is A related to the person in the photograph?

TP R B 3R SIRT HA §T, T U4 I &t & Fe1, "dg A Arar oft & fUareh &) goetdt 38 81" 3mu
g IaT3T fh T 1 39 A8 9 HT JaY 82 [Question ID = 327488]

1. Son / G [Option ID = 1253683]

2. Daughter / Eﬁﬁ [Option ID = 1253684]
3. Nephew / ST [Option ID = 1253685]
4. Uncle / dTdT [Option ID = 1253686]

Correct Answer :-
e Son / A [Option ID = 1253683]

7) Seema is taller than Neeta. Anjana is taller than Seema. Sejal is taller than Anjana. Shefali is the
tallest. If they are arranged according to their heights who will be in the shortest?

e ar 3wt 21 ST W1 @ TR g1 A9d ST A T @ 1 AhTell e a2 1 IfS 5! 5P avTs
F IMMYR W YGRRYT B dl P GG BICT §RM? [Question ID = 327489]

1. Neeta / =taT [Option ID = 1253687]

2. Seema / T [Option ID = 1253688]
3. Anjana / 3{HT [Option ID = 1253689]
4. Sejal / ¥STd [Option ID = 1253690]

Correct Answer :-
« Neeta / a1 [Option ID = 1253687]

8) Make a meaningful word from the given responses.

fau Mg IR & v ardfyuf 2reg wTY|
D_S _ U _ B [Question ID = 327490]

1. ETR [Option ID = 1253691]
2. IOR [Option ID = 1253692]
3. ITR [Option ID = 1253693]
4. UTR [Option ID = 1253694]

Correct Answer :-
o ITR [Option ID = 1253693]

9) Which of the following is exactly divisible by 11?


https://applink.adda247.com/d/XhqWf9lSap

379 T $I9 IT 11 V T8 a8 A HTST 82 [Question ID = 327491]

1. 456121 [Option ID = 1253695]
2. 466131 [Option ID = 1253696]
3. 415624 [Option ID = 1253697]
4. 121021 [Option ID = 1253698]

Correct Answer :-
e 415624 [Option ID = 1253697]

10) Mr. Loo lost his wife recently. He has a 10 year old child, Lee. Mr. Loo was remarried to Ms.
Gomes who is 25 years old and 12 years younger to him. What was the age of Mr. Loo at the time of
Lee's birth?

G P Ul 3T & A 9 It 81 S7THI TP 10 e BT 9=, ot 81 G A ganT Hufa i 3 2l B 7, Ryt 3w
25 TTA ¢ 3R 98 379 12 919 B 81 oft & 570 & quy N g $ 39 @ gnfiz

[Question ID = 327492]

1. 27 [Option ID = 1253699]
2. 37 [Option ID = 1253700]
3. 17 [Option ID = 1253701]
4. 47 [Option ID = 1253702]

Correct Answer :-
e 27 [Option ID = 1253699]

11) The question is based on the following letter/ number/ symbol arrangement. Study it carefully
and answer the question.

A2Z% @7 #5Y34%I00QC96E8$W1s$I#

Which element will be the mid-way element between the 8t letter from the right and 3" letter from
the left side of the given series?

Tg vy Frafafla sar / T / g soawin ) snumiid 31 3@ w9 ¥ 39 3R Uy &1 I ¢
A2Z% @7 #5Y34%I0OBCO6ESSW1$I#

3 71 e A 2 A 8 § 3R 918 A TR auf & v &1 ged w1 gRIm?
[Question ID = 327493]

1. 4 [Option ID = 1253703]

2. % [Option ID = 1253704]

3. I[Option ID = 1253705]

4. Cannot be determined / ﬁﬂﬁi‘dﬂﬁﬁm [Option ID = 1253706]

Correct Answer :-
4 [Option ID = 1253703]
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12) Given below are the jumbled letters of a word and their corresponding numbers. Select the
combination of humbers that makes a meaningful word.

1 TP g & AR 3R 3R B! WId =Td <1 7 2 | =T P I JUISH BT 999 B §ll 39 TP
1P e FATCT |

UCTRLBNIA
123456789
[Question ID = 327494]

1. 516482973 [Option ID = 1253707]
2. 183465279 [Option ID = 1253708]
3. 978645132 [Option ID = 1253709]
4. 192873465 [Option ID = 1253710]

Correct Answer :-
o 516482973 [Option ID = 1253707]

13) Find out the alternative which will replace the question mark.
vy fag 3t ufawa 31 art faweu o1 39 &4 |

BH: JP :: FL : ? [Question ID = 327495]

1. MT [Option ID = 1253711]
2. NT [Option ID = 1253712]
3. AI [Option ID = 1253713]
4. PX [Option ID = 1253714]

Correct Answer :-
e NT [Option ID = 1253712]

14) What least number must be added to 1023, so that the sum is completely divisible by 23?

1023 ¥ 1 <gAqH BT WS &l FT AR, a1fs It T @RE 9 23 | fAUTST 812 [Question ID = 327496]

1. 10 [Option ID = 1253715]
2. 11 [Option ID = 1253716]
3. 12 [Option ID = 1253717]
4. 13 [Option ID = 1253718]

Correct Answer :-
e 12 [Option ID = 1253717]

15) Each question given below consists of a statement, followed by two arguments numbered I and
I1. You have to decide which of the arguments is a 'strong' argument and which is a 'weak'’
argument.

Give answer:

(A) Only argument I is strong
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(B) Both I and II are strong
(C) Only argument II is strong
(D) Either I or II is strong

Statement:
Student Union plays an important role in college/university.
Arguments:

I. Student Union creates a political atmosphere in the campus and it is helpul to develop the
leadership quality.
I1. Students can become future political leaders

TR 2T T UAS Uy H TP YT F q1E & b I 3R 11 21 IS T§ 99 AT ¢ [ D1 91 9 T "Aeiga’
T 2 3R I IT b T "HHAR' d 2|
ECICEA|

Q) $ad b I Aelqd @

) 1 3R 11 S Ao &

) Faa a& 11 799y 8

SH IR II I H | #IS U Avigd &

CRIGH

BT Uy Piaw/ fayfaemay & agayl yfie Fumar g1
TH:

1. BT €Y YRR H T AS-iTdd ATGId ST § 3R I8 Aqed B Jurasdl $i f[TwRia o3 & e AR 31
II. B HfIsT & oA Adr a7 9od &

[Question ID = 327497]

1. A/ € [Option ID = 1253719]
2. B/ &t [Option ID = 1253720]
3. C/ 3t [Option ID = 1253721]
4. D/ S1 [Option ID = 1253722]

Correct Answer :-
« B/ & [Option ID = 1253720]

16) A and B are brothers. C and D are sisters. A's son is D's brother. How is B related to C?

FIANTUEE | TR TTGAS | P HIICTY BT UE ¢ | W BT T J o1 =T 82 [Question ID = 327498]

1. Father / fOdT [Option ID = 1253723]
2. Brother / HTS [Option ID = 1253724]
3. None of these / 378 § @I Ht &l [Option ID = 1253725]
4, Uncle / 3f%d [Option ID = 1253726]

Correct Answer :-
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 Uncle / 3{%d [Option ID = 1253726]

17) If the product of 4856 x 91P is divisible by 12, where 91P is a 3 digit number, then what is the
least value of P?

i 4856 x 91P HT UHTH 12 | AU B, 781 91P TS 3 3d! Ft WBA 3, Al P BT LATH HIF HIT 72
[Question ID = 327499]

1. 5 [Option ID = 1253727]
2. 4 [Option ID = 1253728]
3. 3 [Option ID = 1253729]
4. 2 [Option ID = 1253730]

Correct Answer :-
e 2 [Option ID = 1253730]

18) Replace the question marks(?) with the correct option in order to comple the given analogy.

Crime: Murder::?:?
& i TuETar o guf w34 3g vafe(?) o 98 faee 3 ufawafia #3)

SURTY: T :: ? : ? [Question ID = 327503]

1. Book : Chapter / foara: sremg [Option ID = 1253743]
2. Poem : Sonnet / SiddT: Tid [Option ID = 1253744]

3. Falsehood : Lie / U< : g[S [Option ID = 1253745]

4. Stanza : Ballad / &4 : Tiid [Option ID = 1253746]

Correct Answer :-
« Poem : Sonnet / SiddT: Itd [Option ID = 1253744]

19) A clock is so placed that at 12 noon its minute hand points towards North-east. In which
direction does its hour hand point at 1:30 p.m.?

TS U3} DI 39 YHR IWT 747 ¢ 7P ek & 12 79 599! fiie 3t g3 &1 RRT IR-7d 1 3R gar 81 Qiues
¥ 3¢ g0l FDB! U Dt g3 BT RRT 5w 3= B 3R g2 [Question ID = 327504]

1. North / 37X [Option ID = 1253747]

2. South / GI&fOT [Option ID = 1253748]

3. East / 4d [Option ID = 1253749]

4. None of these/ 378 ¥ @I 4T T8 [Option ID = 1253750]

Correct Answer :-
« East / Gd [Option ID = 1253749]
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Find the odd one out from the given figures. Figures have been alloted numbers 1 to 5 respectively
starting from left to right.

%ﬁgéswﬁﬁﬁﬁmamwam ¢ A A AR P ATHTAUl 1 HHW: 1 5 9P B! GBATE UGH H1 T
|

[Question ID = 327505]

1. 1 [Option ID = 1253751]
2. 2 [Option ID = 1253752]
3. 4 [Option ID = 1253753]
4. 3 [Option ID = 1253754]

Correct Answer :-
e 3 [Option ID = 1253754]

21) ﬁ Q CU & Q

1 2 3 4 5

Select three out of five alternatives given below which when combined form a complete square.

= few e v fiwenl ® @ 9 09 e g9 it frae ue @it &1 i owd 3

[Question ID = 327506]

1. 124 [Option ID = 1253755]
2. 135 [Option ID = 1253756]
3. 245 [Option ID = 1253757]
4. 125 [Option ID = 1253758]

Correct Answer :-
e 125 [Option ID = 1253758]

22) Statement 1: Ramesh has four balls (basketball and football).
Statement 2: Two of the balls are red and other two are blue.
Statement 3: Half of the balls are basketball.

If the above statements are true then which of the following statement must also be true?
I. At least one basketball is red.

I1. Two of the balls are football.
III. The footballs are of blue colour.

FYF 1 : T F U IR A (TRPeTd q4T Heaid) g
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HYF 2 : ITH U &Y i AT & dUT 39 31 §ret el B
PYT 3: MY 9 TP &

MR IWITT $Y I ¢ dl A9 3T T HY= & T 9 T UP 3G9 g1 97 &2

I. $H 4 ®H TP aid a1 ¢ |

II. G} 97 peaid 8|
III. Feard $T 31 =i gl

[Question ID = 327507]

1. I only / %dd I [Option ID = 1253759]

2. 11 only / %ad II [Option ID = 1253760]

3.1and II only / %ad I 3R II [Option ID = 1253761]

4. None of these statement is a fact / 378 q @13 ) HY= I 78 & [Option ID = 1253762]

Correct Answer :-
« I only / %dd II [Option ID = 1253760]

23) There should be a change in criminal justice system. If it allows victims, the opportunity to
confront the person who has harmed them, the system could be more justified. For the harm they
have done mediation between victims and their offenders would give the offenders a chance to
apologize.

This paragraph best supports the statement that:-

MRS g sgawyT § uf¥ad= g1 a1 | afe fifsal @) 59 91 &1 srawR fear 9 f 9 391 &l &1
YHTaar X P forgi 3= P UgardT g, @t SawIT iR it uraivre 8 wad! 8 1 39 JhaH & R st
I far & ifea aur srReht & wed Aeawyar Sl &1 &1 A F U T AT UsH PR gahdT g |

g T 59 YT BT 999 33! ¥ U Ha1 g ¥:-
[Question ID = 327508]

1. They have right to confront their offenders / SIS &1 HTaA HRA HT I MAYBR g [Option ID = 1253763]
2. Learn how to meditate / TRaT o5 ALRIAT B4 BT STt § [Option ID = 1253764]

3. Offenders must be punished by insistence / QIS &I TERGXN ol & ST 91T [Option ID = 1253765]

4. Learn to pardon the offenders / G B &I GAT YR [Option ID = 1253766]

Correct Answer :-

« They have right to confront their offenders / IS HT GeTaar HRA BT I HUDHR § [Option ID =
1253763]

24) If ROAST is coded as PQYUR in a certain language, then how SLOPPY be coded in that
Language?

gfe fpet HTUT # ROAST H1 Haha-forft & PQYUR for@t wirar 8, ) 9 HTUT # SLOPPY & fore & feran
SITEM? [Question ID = 327509]

1. MRNAQN [Option ID = 1253767]
2. NRMNQA [Option ID = 1253768]
3. QNMRNA [Option ID = 1253769]
4. None of these / 370 T &g ) 78T [Option ID = 1253770]
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Correct Answer :-
* QNMRNA [Option ID = 1253769]

25) Find the odd one out from the given figures. Figures have been alloted numbers 1 to 5
respectively starting from left to right.

?g‘éWﬁﬁ%mwaﬁ ¢ q o 3R P rpfodl B HHW: 1 A 5 T B TBAE Y™ $i Tt
|

e S S =0

1 2 3 4 5

[Question ID = 327510]

1. 4 [Option ID = 1253771]
2. 5 [Option ID = 1253772]
3. 1 [Option ID = 1253773]
4. 3 [Option ID = 1253774]

Correct Answer :-

» 4 [Option ID = 1253771]

26) Choose the correct mirror image of the given figure from amongst the four alternatives. Figures
have been alloted numbers 1 to 4 respectively starting from left to right.

fow e for § @ 9 Rpedt 9 @ 9t ador wfafer 3w | and @ il ok Y srpfodl @1 o 1 4 4 7% 3
HE&ITE YeE ot Tt 7

& S

1 2 3 4

[Question ID = 327511]

1. 1 [Option ID = 1253775]
2. 2 [Option ID = 1253776]
3. 3 [Option ID = 1253777]
4. 4 [Option ID = 1253778]

Correct Answer :-
e 4 [Option ID = 1253778]

27) Statement I: Many people have fallen sick after consuming food from a particular restaurant in
the locality.
Statement: II. There is a considerable decrease in the petty crimes in the locality.
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HYF I: T TF R YT {5 @ WeRi & HiH &34 9 &8 @R d1HR S Y|
FYF II: R AT TR BIe A ARTY § Hgayul weledt ¢t Tt 3|

[Question ID = 327512]

1. Statement I is the cause and Statement II is the effect. / B | HRUT § TUT HY || RO %I [Option ID =
1253779]

2. Statement II is the cause and Statement I is the effect. / ®U Il HRUT § YT HY | GRUTH %I [Option ID =
1253780]

3. Both Statement I and Statement II are effects of some common cause. /Eﬁﬁf HYT | 9YT || TH I HRU &
uRkumy §) [Option ID = 1253781]

4, Both Statement I and Statement II are effects of independent cause. / HU- I Td HYH II frdt @da R &
GRUTH | [Option ID = 1253782]

Correct Answer :-

« Both Statement I and Statement II are effects of independent cause. / &Y I Td HYH II o Wda FRU &
gRume 8] [Option ID = 1253782]

28) Pointing to a girl Rohit says, “She is the daughter of the only son of my mother”. How is the girl
related to the Rohit?

TP TSP DI P IART HIA §U fed A FHgT, "ag A °7 & Thdld 9 DI a1 81 " I asDt &1 Aed A I
T | [Question ID = 327513]

1. Daughter / St [Option ID = 1253783]

2. Mother / Af [Option ID = 1253784]

3. Wife / Tdt [Option ID = 1253785]

4. Cousin / Ia_1 8 [Option ID = 1253786]

Correct Answer :-
» Daughter / Gl [Option ID = 1253783]

29) Murari walked 40 km towards North, took a left turn and walked 20 m. He again took a left turn
and walked for 40 km. How far and in which direction is he from the starting point?

TR IR B 3R 40 fFHafier gadar g iR a8i A a1¢ geo 20 Hiex o« 81 9 b 91¢ geav 40 faht
TaAdT g1 AT I8 U7 RIS R | fhat gz ¥ fow f&=m # 82 [Question ID = 327514]

1. 20 km West / 20 &t af¥® o [Option ID = 1253787]
2. 20 km South / 20 f&=it Gf&mr [Option ID = 1253788]
3. 20 km East / 20 f&H gd & [Option ID = 1253789]

4. 20 km North / 20 f&Ht 3R [Option ID = 1253790]

Correct Answer :-
e Question Discarded

30) In arow of girls, there are 16 girls between Priya and Natasha. Priya is thirty-second from the
left end of the row. If Priya is nearer than Natasha to the right end of the row, then how far away is
Natasha from the left end of the row?

asfPal @t Th Far A firan ik Fam=n & dHa 16 asfear &1 O ufda & ag @ s<fwdY 81 afe frar uiea &
313 3R A AT | TASID § < TR Ui B1 a13 3R | fHa-il gr 82 [Question ID = 327515]
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1. 16t / 16 df [Option ID = 1253791]
2. 14t / 149 [Option ID = 1253792]

3. 15% / 1537 [Option ID = 1253793]
4. Data inadequate / THSRT ST [Option ID = 1253794]

Correct Answer :-
« 15% / 154} [Option ID = 1253793]

31) Choose the odd numeral pair/group in the following questions.

AT 3 I YT JHE P! Ugd B3| [Question ID = 327516]

1. 14_41 [Option ID = 1253795]
2. 45_54 [Option ID = 1253796]
3. 37_73 [Option ID = 1253797]
4. 35_66 [Option ID = 1253798]

Correct Answer :-
e 35_66 [Option ID = 1253798]

32) Arithmetic Number Series.

What will be in the place of (?) in the below series?
G14,?,K44,M 65,090,

ST i |

1 fou T y@en # (?) F I W F91ER?

G 14,?,K 44, M 65, 0 90, [Question ID = 327517]

1. 127 [Option ID = 1253799]
2. H27 [Option ID = 1253800]
3. 120 [Option ID = 1253801]
4. 130 [Option ID = 1253802]

Correct Answer :-
e [27 [Option ID = 1253799]

33) In a queue, Shikhar is ninth from the back. Arun's place is eighth from the front. Nikhil is
standing between the two. What could be the minimum number of boys standing in the queue?

TP PR A AR NS & Aiai 21 301 &1 T M F 3meal ¢l FRa A S I A g FAaRA A A
Y fraq TSP 81 IfeT? [Question ID = 327518]

1. 8 [Option ID = 1253803]

2. 10 [Option ID = 1253804]

3. 12 [Option ID = 1253805]

4. None of these / 378 T %15 ) 78T [Option ID = 1253806]

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e 10 [Option ID = 1253804]

34) The time by my watch is 10 minutes to 7, find the angle between the hour hand and the minute
hand.

T T | g 7 g9 § 10 e $18)a1 81 S g9 U B JS 3R e 3 g5 F fiw & o &1 uar s
[Question ID = 327519]

1. 110° [Option ID = 1253807]
2. 120° [Option ID = 1253808]
3. 105° [Option ID = 1253809]
4. 95° [Option ID = 1253810]

Correct Answer :-
e 95° [Option ID = 1253810]

35) A father tells his son,"I was of your present age when you were born." If the father is now 36
years of age, how old was the boy 5 years ago?

T T A 39 O3 A $gT, "9 GRRT o g1 99 # qreRl adu 39 &1 411" afe fUar &1 3w enft 36 af g,
df 3¢ #1 39 5 I1a Ugd fha-t di? [Question ID = 327520]

1. 13 [Option ID = 1253811]
2. 15 [Option ID = 1253812]
3. 17 [Option ID = 1253813]
4. None of these / 30 T ®Ig ) 78T [Option ID = 1253814]

Correct Answer :-
e 13 [Option ID = 1253811]

36) If L stands for +, M stands for -, N stands for x, P stands for +,then6 N8S8L21P3 M4 =7

gRLPTAS + T MPTAS -, NPT x g, PpTaf + @, A6 NSL21P3MA =2
[Question ID = 327521]

. 51 [Option ID = 1253815]
. -51 [Option ID = 1253816]
. 55 [Option ID = 1253817]
. -54 [Option ID = 1253818]

D WN -

Correct Answer :-
e 51 [Option ID = 1253815]

37) Arithmetic Number Series
What will be the next term in the below series?
84 8178 76 73 70 68 65
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frafafad St # srTem ug «a1 g m?

84 817876737068 65
[Question ID = 327522]

1. 63 and 61 / 63 3R 61 [Option ID = 1253819]
2. 62 and 60 / 62 3R 60 [Option ID = 1253820]
3. 63 and 60 / 63 3R 60 [Option ID = 1253821]
4. 62 and 59 / 62 3R 59 [Option ID = 1253822]

Correct Answer :-
« 62 and 60 / 62 3fR 60 [Option ID = 1253820]

38) A survey is taken among few students of a class on what pets they like. The choices provided
to them are: Rabbits, Fishes and Cats. A below Venn dizgrams is prepared for the survey. Study

the below Venn diagram and answer the gquestions from 18— 20.

Teh ShETl & Des Al & €T 55 3TN O T = e O UTea, SOt TEG § T Jasse R
HAOI &1 399 U0 6T 9T Taheu & =IO, A=iear i Bieagl Baso o B &3 v a5
o 3O Tra T S =9 B T o9 TS O ¥haaa L A us e Ea g

e Nl B Sl
@ E—
Nay, O -

How many total students are present in the class?

Fel o po fraq o1 Hivg 82
[Question ID = 327529]

1. 40 [Option ID = 1253847]
2. 46 [Option ID = 1253848]
3. 45 [Option ID = 1253849]
4. 47 [Option ID = 1253850]

Correct Answer :-
» 46 [Option ID = 1253848]
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A survey is taken among few students of a class on what pets they like. The choices provided
to them are: Rabbits, Fishes and Cats. A below Venn diagrams is prepared for the survey. Study
the below Venn diagram and answer the questions from 18 — 20.

Teh S&] & &% ©Hl iF d@TY 55 YR O T 39T e § U, 9 ad TR ¥ U JaeToT B
A & 3= O BT e TTeeg L =, Fotera iR ETeaal wase & e 5 o O

T dOR fra T Y S T 0 a9 Y o vaoa ot Hir us mEE

3 O —_— Rabbits

v v O —>  Fishes
e) oo
How may students like Cats and Rabbits?

fra o fafera) ok @R &) ueig ®3d 872

[Question ID = 327530]

1. 10 [Option ID = 1253851]
2. 6 [Option ID = 1253852]
3. 4 [Option ID = 1253853]
4. 2 [Option ID = 1253854]

Correct Answer :-
e 10 [Option ID = 1253851]

40) A survey is taken among few students of a class on what pets they like. The choices provided
to them are: Rabbits, Fishes and Cats. A below Venn diagrams is prepared for the survey. Study

the below Venn diagram and answer the guestions from 18 — 20.

TR AT & O 1 O € S 3TUE 9T T Sea] S 8§ Uieig, AEaY BhG B U TasTe B
O &1 =90 UH 6T 9T TOmheu & T, Asiadar i Bieaal oo o e &5 vm O

o dOr T T E = TS0 TS o9 O O Avags o i us mase g

3 O —_— Rabbits

' v O T Fishes
() |°o--
Which pet is liked by 24 students?

24 BT B B T UTeq AR UG 872

[Question ID = 327531]

1. Cats / fafcerar [Option ID = 1253855]
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2. Rabbits / @RI [Option ID = 1253856]
3. Fish / A&l [Option ID = 1253857]
4. None of these / 378 ¥ P13 +} 8T [Option ID = 1253858]

Correct Answer :-
e Rabbits / TN [Option ID = 1253856]

Topic:- CompOp_MainExam_Setl_CS

1) Flowchart help us to

wAare g d H § Ueg Bar gl
[Question ID = 324253]

1. 1) Specify the problem completely and clearly / JHHIT DI @ R 3R Wy w0 I fAfdy wea A | [Option ID =
1238070]

2. 2) Knows the capacity of the memory / Sfd @1 &HdT &I S & [Option ID = 1238071]

3. 3) Both (1) and (2) / (1) 3fRR (2) G [Option ID = 1238072]

4. 4) None of these / 378 ¥ P13 +} 8T [Option ID = 1238073]

Correct Answer :-

« 1) Specify the problem completely and clearly / TH&T &I @ We R Wy ¥u I Ay s A | [Option ID
= 1238070]

2) denotes the beginning or ending of a program.

TS URITH &1 YT T THT B S=idT 81
[Question ID = 324254]

1. Flow line / Ol @13 [Option ID = 1238074]
2. Rectangle / 3f1d [Option ID = 1238075]

3. Oval / 3fid [Option ID = 1238076]

4, Diamond / STIHS [Option ID = 1238077]

Correct Answer :-
e QOval/ SﬁFelFl [Option ID = 1238076]

3) symbolizes the data flow.

3T Ya1E H! g2far g1
[Question ID = 324255]

1. Pie chart / UTs dT¢ [Option ID = 1238078]

2. Scatter chart / TR T [Option ID = 1238079]
3. Flowchart / &l =T [Option ID = 1238080]

4. Area chart / &3 e [Option ID = 1238081]

Correct Answer :-
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« Flowchart / Tl =T [Option ID = 1238080]

4)
The symbol shown in the figure represents flowchart.
3Tpfa # feamar ma faeg FAraTe P gRitar B

[Question ID = 324256]

1. Decision / fA0fg [Option ID = 1238082]

2. Input Output / F9YC 3HTSHcYC [Option ID = 1238083]
3. Output / 3TSHcYC [Option ID = 1238084]
4. Termination / JHIT [Option ID = 1238085]

Correct Answer :-
« Decision / fA0fa [Option ID = 1238082]

5) In TCP/IP stack, which layer is equivalent to transport layer of OSI model?
TCP/IP W& ¥ PiF Wl AUR OSI Ulsd P TiHUIE AR P SRR 82
[Question ID = 324257]

1. Host —to —Host Layer / e - - BRe AR [Option ID = 1238086]
2. Internet / 3¢ [Option ID = 1238087]

3. Application layer / TR @SR [Option ID = 1238088]

4. None of these / 378 ¥ P13 gl [Option ID = 1238089]

Correct Answer :-
« Host —to —Host Layer / 8¢ — ¢ - B¢ W3R [Option ID = 1238086]

6) In MS-PowerPoint, Handout Master is used to bring changes in
MS-UTaRulge |, USIT3T ARER H geard A 3g YT fHar o g |
[Question ID = 324258]

1. Layout of presentation handouts / US¢TM BUS3MTIC P A3MTIT [Option ID = 1238090]
2. Slide formatting / ¥1gS ¥d4UT [Option ID = 1238091]

3. Slide transaction / ¥T$s HdTa [Option ID = 1238092]

4. Layout of slide / &ITgS &I T3MHT [Option ID = 1238093]

Correct Answer :-
 Layout of presentation handouts / TSI BUSINIT P AT [Option ID = 1238090]
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7) In MS-PowerPoint 2007, is a shortcut to start presentation from current slide.

THTH-UTaRUIge §, IdAT WSS | Uoex™ Y= B3 & g qiidwe 2l
[Question ID = 324259]

1. F5 [Option ID = 1238094]

2. ALT+F5 [Option ID = 1238095]
3. CTRL+F5 [Option ID = 1238096]
4. SHIFT+F5 [Option ID = 1238097]

Correct Answer :-
e SHIFT+F5 [Option ID = 1238097]

8) What does an '.org' extension refer to?

W9 TS BT 9 ".org’ b HIY HHIW gidl 8, 79 SHBT T HdAd 82 [Question ID = 324260]

1. A network site / Sed® I1se [Option ID = 1238098]

2. An organization site / 32X FIEE [Option ID = 1238099]
3. Commercial site / ATfOIfYe HTSE [Option ID = 1238100]

4. Very high traffic on site / §gd &¥d HIg< [Option ID = 1238101]

Correct Answer :-
« An organization site / 3SR ¥IZ¢ [Option ID = 1238099]

9) view is used to enter speaker notes in MS- Powerpoint.

o PT WART MS- UTaRUTse & WidR ey &) gmfed $1 & g farar wmar 21
[Question ID = 324261]

1. Outline / 3T3CaTS [Option ID = 1238102]

2. Reading / IfE [Option ID = 1238103]

3. Slide Sorter / ¥ilgS i [Option ID = 1238104]

4. Note page view / FIlcUd ]9 [Option ID = 1238105]

Correct Answer :-
+ Note page view / IcUd €9 [Option ID = 1238105]

10) alignments are avaialable for an inline image in HTML.
TRAUT HTML H TP sarsH 313 & I Suasy ]
[Question ID = 324262]

1. Top / U [Option ID = 1238106]

2. Middle / #&H [Option ID = 1238107]

3. Bottom / f=idll [Option ID = 1238108]

4. Top, Middle and Bottom / 3URY, Hed TG =@ [Option ID = 1238109]

Correct Answer :-
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« Top, Middle and Bottom / 3U<Y, Hed U4 f=rell [Option ID = 1238109]

11) Full form of WAN signifies

WAN &7 Quf =1 ]
[Question ID = 324263]

1. Wider Areas Network / ai8e TRATS Aead [Option ID = 1238110]
2. Wider Area Network / H@TWW [Option ID = 1238111]

3. Wide Area Network / dTsS TRAT Acdd [Option ID = 1238112]

4. Wide Areas Network / dTs8 TRATS Sedds [Option ID = 1238113]

Correct Answer :-
« Wide Area Network / aT88 TRAT Aedd [Option ID = 1238112]

12) Touch screen is a/an

T B T g
[Question ID = 324264]

1. Input device / $79¢ I [Option ID = 1238114]

2. Output device / 3T3cYe T4 [Option ID = 1238115]

3. combination of both input and output device / 34 Td 3¥cYe I &1 T [Option ID = 1238116]
4. None of these / 370 T ®Ig ) 78T [Option ID = 1238117]

Correct Answer :-
« combination of both input and output device / 3T9¢ Td 3¥cYe IF HT HA [Option ID = 1238116]

13) The full form of BCD is

RIS &1 guf = v 21 [Question ID = 324265]

1. Binary Coded Decimal / STsR! ®eS SRIHd [Option ID = 1238118]
2. Bit Coded Decimal / f9e ®1ss SfRHd [Option ID = 1238119]

3. Binary Coded Digit / I3R! ®I88 [SfSTe [Option ID = 1238120]

4. Bit Coded Digit / fae ®Iss ffore [Option ID = 1238121]

Correct Answer :-

« Binary Coded Decimal / S8R ®Ie8 SR [Option ID = 1238118]

14) A binary cell capable of storing one bit of information is

TS {9 Ot TSR TIRT H1 B &Har ¥@ ard fredt a8 Ja PEd |
[Question ID = 324266]

1. flip-flop / TG@U-TaITT [Option ID = 1238122]

2. floppy disk / Tt f&¥& [Option ID = 1238123]
3. flash / T1=T [Option ID = 1238124]

4. novel / 9@ [Option ID = 1238125]
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Correct Answer :-
« flip-flop / fTU-TRITT [Option ID = 1238122]

15) Name the protocol used to find MAC address from IP address.

TS} TS Ft Heg I AP (MAC) TSH Fi geA F e ST fd & a1dt Wietsia &1 A1 Ja1sd |
[Question ID = 324267]

1. RARP [Option ID = 1238126]
2. ARP [Option ID = 1238127]

3. ICMP [Option ID = 1238128]
4. SMTP [Option ID = 1238129]

Correct Answer :-
e ARP [Option ID = 1238127]

16) Control unit is a part of

[Question ID = 324268]

1. CPU [Option ID = 1238130]

2. ALU [Option ID = 1238131]

3. Memory unit / ﬁ'ﬂﬁﬁgﬁ? [Option ID = 1238132]

4. None of these / 98 q pig of 7Y [Option ID = 1238133]

Correct Answer :-
e CPU [Option ID = 1238130]

17) Secondary memory is also known as

fefredmfiamidl = S EudASEIwEe
[Question ID = 324269]

1. Auxiliary memory / G8T0% HHRY [Option ID = 1238134]

2. Main memory / H@Iﬂ'ﬁhﬂ [Option ID = 1238135]

3. Volatile memory / BIRCRE I NREEIR] [Option ID = 1238136]
4. All of these / Tt fdded [Option ID = 1238137]

Correct Answer :-
 Auxiliary memory / TS HURT [Option ID = 1238134]

18) Nibble is a group of

fraa 1 TP TG 7
[Question ID = 324270]
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1. 4 bits / ¥ f&cH [Option ID = 1238138]
2. 4 bytes / ¥ d1ScH [Option ID = 1238139]
3. 8 bits / ¢ facH [Option ID = 1238140]
4. 8 bytes / ¢ 915cH [Option ID = 1238141]

Correct Answer :-
* 4 bits / ¥ focH [Option ID = 1238138]

19) Hard disk is an example of

gTs fowm P UP G180 8| [Question ID = 324271]

1. Main memory / H’@Tfﬂ:ﬁﬁ [Option ID = 1238142]

2. Secondary memory / Yd>a<l HHRT [Option ID = 1238143]
3. Cache memory / H2 AHIRT [Option ID = 1238144]

4. Volatile memory / gRadIie AR [Option ID = 1238145]

Correct Answer :-
« Secondary memory / ¥&a] HART [Option ID = 1238143]

20) Basic logic gates are of types.

Hifere difore ficq & UK 81 ¥ [Question ID = 324272]

1. 2 [Option ID = 1238146]
2. 3 [Option ID = 1238147]
3. 4 [Option ID = 1238148]
4. 5 [Option ID = 1238149]

Correct Answer :-
e 3 [Option ID = 1238147]

21) For two inputs A and B, the output of AND gate is HIGH if

ATYCATIBRG, ANDIC FTIMSeqe SATe, afs_ garg|

[Question ID = 324273]

Correct Answer :-
e A=B=1/T =dt = ¢ [Option ID = 1238150]

22) The 'OR’ function can be used to a transmitted waveform.

OR W= &7 SUANT it Hftd =1 &Y % forq faT o1 a1 81 [Question ID = 324274]

1. Enable / & &= [Option ID = 1238154]
2. Disable / 31&H A [Option ID = 1238155]
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3. Enable or disable / T&H T 31&H & [Option ID = 1238156]
4. Enable and disable / T&H 3R 3{&H B [Option ID = 1238157]

Correct Answer :-
¢ Enable or disable / T&H T 3H&H A [Option ID = 1238156]

23) What is the name of the topology which has bidirectional links between every node?

39 cIaars &1 99 o7 @ o ude A8 & d19 A Jrgerayaqd foid gidr 82
[Question ID = 324275]

1. Star topology / ¥R SIUdrsil [Option ID = 1238158]

2. Tree topology / €1 lUdrsil [Option ID = 1238159]

3. None of these / 378 ¥ &Is 78! [Option ID = 1238160]
4. Mesh topology / BT Gata@rstl [Option ID = 1238161]

Correct Answer :-
« Mesh topology / H¥T Eradrsi [Option ID = 1238161]

24) What does the small bubble on the NAND gate's logic symbol means with respect to the output?

3r3eye & T #, NAND Tie & difore fIg R B1¢ gaqa I 1 a4 82 [Question ID = 324276]

1. The output is inverted / 3T&HCYC BFC’[% [Option ID = 1238162]
2. The output is enabled / &WHW% [Option ID = 1238163]
3. The output is disabled / 3T cYc H&I‘q% [Option ID = 1238164]
4. None of these / 378 ¥ @15 el [Option ID = 1238165]

Correct Answer :-
e The output is inverted / 3T$HcYc 3 g [Option ID = 1238162]

25) In MICR, R stands for

MICR # R 9 d1<qd 8:- [Question ID = 324277]

1. Recognition / R&IRM [Option ID = 1238166]
2. Reader / 318X [Option ID = 1238167]

3. Rest / X% [Option ID = 1238168]

4. Repeat / die [Option ID = 1238169]

Correct Answer :-
e Recognition / R IR [Option ID = 1238166]

26) Acronym GB signifies

GB@T 3l g | [Question ID = 324278]

1. Giga Byte / 71T §TS¢ [Option ID = 1238170]
2. Gena byte / T §T3¢ [Option ID = 1238171]
3. Gold byte / Tes d1ge [Option ID = 1238172]
4. Green byte / PIGICIES [Option ID = 1238173]
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Correct Answer :-
« Giga Byte / 1T T2 [Option ID = 1238170]

27) Output unit is responsible for

deegegfie & fmRmier 31

[Question ID = 324279]

1. display output / 3T3cYc fam [Option ID = 1238174]

2. taking input / $YC & [Option ID = 1238175]

3. processing input / E’?E[EQWUTW [Option ID = 1238176]
4. None of these / 378 ¥ &3 gl [Option ID = 1238177]

Correct Answer :-
« display output / 33cYc REGIE [Option ID = 1238174]

28) The term BD with respect to computer knowledge stands for

FeR I & F5u °, 9t o1 o gl
[Question ID = 324280]

1. Blu- ray disc / &% f&%® [Option ID = 1238178]

2. Barcode reader disc / SR®1S X183 f&¥® [Option ID = 1238179]
3. Blue disc / & f&% [Option ID = 1238180]

4. All of these / T+ fa®ed [Option ID = 1238181]

Correct Answer :-
e Blu- ray disc / o_cj\}\f o [Option ID = 1238178]

29) What does RW stands for in CD-RW?

CD-RW & RW I &IT aTcqd 82
[Question ID = 324281]

1. Re-Writable / RENELL [ [Option ID = 1238182]

2. Record Washable / Re1s amied [Option ID = 1238183]

3. Re-Washable / J-aRI§d [Option ID = 1238184]

4, Recording Writable / Reife Agead [Option ID = 1238185]

Correct Answer :-
+ Re-Writable / $I-1g¢ad [Option ID = 1238182]

30) Hexadecimal Number system has a base of

TTATSRITE H&T §F BT YR 8141 2| [Question ID = 324282]

1. 10 [Option ID = 1238186]
2. 8 [Option ID = 1238187]
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3. 16 [Option ID = 1238188]
4. 2 [Option ID = 1238189]

Correct Answer :-
e 16 [Option ID = 1238188]

31) www was developed by

segsegswy__ grfaefa fasar mar
[Question ID = 324283]

1. John Napier / SiT9 AfUTR [Option ID = 1238190]

2. Tim Berners lee / e §94 &t [Option ID = 1238191]
3. John Robert / S A& [Option ID = 1238192]

4. Elva lee / TedT ©f [Option ID = 1238193]

Correct Answer :-
« Tim Berners lee / fe s &Y [Option ID = 1238191]

32) Static website is coded into language.

wfew dgurse Bl HToT § Sre foar mam 21
[Question ID = 324284]

1. Html / TIIETTATA [Option ID = 1238194]
2. XML / UaHUHTH [Option ID = 1238195]

3. CSS with scripting / f&pUT Tfgd HTITH [Option ID = 1238196]
4. VB.net / ®&1.AC [Option ID = 1238197]

Correct Answer :-

e Html / TIEIUHTA [Option ID = 1238194]

33) What is the name of the operator that returns a Type object for the specified type?

39 3ATURER BT ATH JdT5d Sl WRIBTES e15U & ford T8y Sifesiae 91ud &l 82
[Question ID = 324285]

1. Function expression / WQ@W [Option ID = 1238198]
2. Address of / TSH 3{{t [Option ID = 1238199]

3. Await / 3fd¢ [Option ID = 1238200]

4. GetType / Ticergy [Option ID = 1238201]

Correct Answer :-
e GetType/ TIecRy [Option ID = 1238201]

34) An example of fourth generation programming language is

Al it F vhnfiT T ST uw IR R| [Question ID = 324286]
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1. C [Option ID = 1238202]

2. COBOL [Option ID = 1238203]

3. MERCURY [Option ID = 1238204]
4. SQL [Option ID = 1238205]

Correct Answer :-
e SQL [Option ID = 1238205]

35) Guided media is also called as

fdRmE Hifsa &t ft wTSTaT 21
[Question ID = 324287]

1. 1) Wired media / args Hif$aT [Option ID = 1238206]

2. 2) Wireless media / araRe™ HIfSaT [Option ID = 1238207]
3. 3) Both (1) and (2) / (1) 3fR (2) G [Option ID = 1238208]
4. 4) None of these / 378 ¥ P13 +}t 781 [Option ID = 1238209]

Correct Answer :-
« 1) Wired media / 9198 HifSaT [Option ID = 1238206]

36) Mouseis a

&Y U 21 [Question ID = 324288]

1. 1) Handheld device / BT & fearzyg [Option ID = 1238210]

2. 2) Pointing device / Tfs{eTT f$aTsd [Option ID = 1238211]
3. 3) Both (1) and (2) / 1 3fR (2) GHI [Option ID = 1238212]
4. 4) None of these / 370 ¥ P13 +f T8 [Option ID = 1238213]

Correct Answer :-
« 2) Pointing device / UfsfeT fSaTgY [Option ID = 1238211]

37) Write the full form of DMA.

ST 31 QRT A ford |
[Question ID = 324289]

1. Direct Module Access / STEREE HATedd TaRiY [Option ID = 1238214]

2. Direct Memory allocation / SR AURY Tl eH [Option ID = 1238215]
3. Distinct memory access / f&f&ae THRT TRIY [Option ID = 1238216]

4. Direct memory access / STIRGE HHRI TR [Option ID = 1238217]

Correct Answer :-

« Direct memory access / STIGE HHRI TR [Option ID = 1238217]

38) Convert the octal number 7041 into its decimal equivalent.

3ifacd HBT 7041 H ITP SHHA I A yRafda #¥1
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[Question ID = 324290]

1. 36174 [Option ID = 1238218]
2. 36164 [Option ID = 1238219]
3. 3615, [Option ID = 1238220]
4. 27804 [Option ID = 1238221]

Correct Answer :-
e 361740 [Option ID = 1238218]

39) What is the purpose of banker’s algorithm?

B & TANNA FT I T 7?2
[Question ID = 324291]

1. To detect deadlock / TTfoRIY &7 TaT A & 1T [Option ID = 1238222]
2. To prevent deadlock / TfARIY 1 b+ & T [Option ID = 1238223]

3. To solve deadlock / TIfORTY ST FHTYT H= & fo1d [Option ID = 1238224]
4. None of these / 378 ¥ &3 gl [Option ID = 1238225]

Correct Answer :-
« To prevent deadlock / TTfRIe BT A+ & folW [Option ID = 1238223]

40) Why bookmarks are used in MS-word?

THTY 98 H §HHTS Tl ST Hd 82
[Question ID = 324292]

1. Save alignment / TdsTHe ¥ & & o [Option ID = 1238226]

2. Correct spellings / i 31 HRA & T [Option ID = 1238227]

3. Change paragraph / IRTTH Sa & o [Option ID = 1238228]

4. To jump to a specific location in a document / T G¥dTdel H Teh fAfRI¥ I TR S & T [Option ID =
1238229]

Correct Answer :-

« To jump to a specific location in a document / T& G¥dIdsl H Ue fAfRIY WM IR 9 & foT [Option ID =
1238229]

41) What is used to measure the capacity of a communication channel?

TR oA B &A1 DI ATYA P {0 a1 SUANT fopa Sirdr 82
[Question ID = 324293]

1. Server Speed / IR Tig [Option ID = 1238230]
2. Density / SRI(g@) [Option ID = 1238231]

3. Bandwidth / §§fag¥ [Option ID = 1238232]

4. Bus width / SEfAGY [Option ID = 1238233]
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Correct Answer :-
e Bandwidth / a'tsﬁ_s:'q [Option ID = 1238232]

42) Home page is the

QLU g
[Question ID = 324294]

1. 1) Main page of the website / CERIEER-I qJ7 UK [Option ID = 1238234]

2. 2) Default page of the website / Je¥TZC @ [SWiee UsT [Option ID = 1238235]
3. 3) Both (1) and (2) / (1) 3fR (2) G [Option ID = 1238236]

4. 4) None of these / 378 ¥ P13 )t 781 [Option ID = 1238237]

Correct Answer :-
e 3)Both (1) and (2)/ (1) 3R (2) At [Option ID = 1238236]

43) The full form of URL is

YARTA BT quf & €1 2| [Question ID = 324295]

1. Uniform Resource Locator / {ﬁﬁﬁﬁ@ﬁm [Option ID = 1238238]
2. Unity Resource Locator / {ﬁf{ i e [Option ID = 1238239]

3. Uniform Resource Locate / ZfthIH R didbe [Option ID = 1238240]
4. Unity resource Locate / gfAcT GRS @ide [Option ID = 1238241]

Correct Answer :-

« Uniform Resource Locator / AhiH &R didex [Option ID = 1238238]

44) Certain function displays row data in column and column data in row, which function is that?

I8 BI91-T1 AR g Sl I 8121 B BIaH A 3R PIaH S1e1 B I A URId H3dT1 82 [Question ID = 324296]

1. Rows / 3 [Option ID = 1238242]

2. Transpose / E:Jmtﬁ\_rr [Option ID = 1238243]

3. Index / 3549 [Option ID = 1238244]

4. None of these / 378 ¥ B3 gl [Option ID = 1238245]

Correct Answer :-
« Transpose / CIUIN [Option ID = 1238243]

45) In email, BCC stands for

£ da & SiRA &1 aread a8
[Question ID = 324297]

1. Black Carbon Copy / &Td @Ta- 10! [Option ID = 1238246]

2. Blind Carbon Copy / SIS S HIa B4l [Option ID = 1238247]

3. Black Computer Copy / & HeR BIUT [Option ID = 1238248]
4. Blind Computer Copy / &Te8 ®XeR 14l [Option ID = 1238249]
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Correct Answer :-
« Blind Carbon Copy / S8 HTa HIU [Option ID = 1238247]

46) Unsolicited commercial email is called as

3FTe UAATRIS SHA HI I SITaT 81 [Question ID = 324298]

1. Spam / ¥H [Option ID = 1238250]
2. Links / f&f@ [Option ID = 1238251]

3. Hyperlinks / 818URfcidb [Option ID = 1238252]
4, Junk / S [Option ID = 1238253]

Correct Answer :-
« Spam / WH [Option ID = 1238250]

47) Identify the device that reads data by reflected pulses of laser beams on the surface.

8 ®I9 1 fEarsy & o Ih9 R Ao 99 &1 Rwdees U & gRT STl &) UedT @ ? [Question ID =
324299]

1. Magnetic disk / Fifes f&%F [Option ID = 1238254]

2. Floppy disk / Tl fem [Option ID = 1238255]

3. Optical disk / 3fifPdd f&%b [Option ID = 1238256]

4. Read only memory / 35 3 AERT [Option ID = 1238257]

Correct Answer :-
« Optical disk / 3w f&X® [Option ID = 1238256]

48) What is the role of trigger in animations?

A ¥ R 5t @ yftreT 82
[Question ID = 324300]

1. An action button that advances to next slide / T TaR g STl 3ATeH T3S H & Sl @ [Option ID =
1238258]

2. An item on slide that performs action when clicked / I8 UR Uch 3{TICH S foa® = IR TR Tl 8 [Option
ID = 1238259]

3. Name of a motion path / T AR Uy BT A [Option ID = 1238260]

4. Outline view / 3T3TATS ¢ET [Option ID = 1238261]

Correct Answer :-

* An item on slide that performs action when clicked / TS S TR Udh 3H—ACH N fade A W TRMHE Kl %
[Option ID = 1238259]

49) In terms of computer knowledge, SQL stands for

SR F9 P T §, tHegue § arad 2| [Question ID = 324301]

1. Structured Query Longitude / Ejﬂ?ﬁc Cil ?ﬁﬁ'cﬁf&’ [Option ID = 1238262]
2. Scripted Query Language / f&pPS &% 7aw [Option ID = 1238263]
3. Simple Query Language / Riud &<t A7awT [Option ID = 1238264]
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4. Structured Query Language / aE8 $I ¢I7dsl [Option ID = 1238265]

Correct Answer :-
e Structured Query Language / W‘{-‘f CRURNIE] [Option ID = 1238265]

50) In SQL, ROLLBACK is used to

SQL # ROLLBACK T SUGRT P fore a1 Sa1 81 [Question ID = 324302]

1. Undo all the previous changes / fU&d Tt ggaral B 3g HRA [Option ID = 1238266]
2. Cut changes / SGATal @1 &¢ @R [Option ID = 1238267]

3. Paste changes / SGaTal ®I U %A [Option ID = 1238268]

4. End changes / Sqdrdi &I 3fd &= [Option ID = 1238269]

Correct Answer :-

« Undo all the previous changes / fU&d Tt ggamal 1 3 & [Option ID = 1238266]

51) A queue follows

TP FaR (F) T UT Bl 31 [Question ID = 324303]

1. FILO [Option ID = 1238270]
2. LILO [Option ID = 1238271]
3. FIFO [Option ID = 1238272]
4. LIFO [Option ID = 1238273]

Correct Answer :-
e FIFO [Option ID = 1238272]

52) Stack is related to terms such as

RS S AT e g1
[Question ID = 324304]

1. Push and pop / G 3R TIY [Option ID = 1238274]

2. Engeue and dequeue / mﬁ??ﬁﬁﬂ{[omion ID = 1238275]
3. Push / URT [Option ID = 1238276]

4. Enqueue / TAR] [Option ID = 1238277]

Correct Answer :-
« Push and pop / T 3R UMY [Option ID = 1238274]

53) What does it mean when we mention prototype of a function in C language?
'C’ A H "B P WEISTSU” HT 99T Haad gidT 82 [Question ID = 324305]

1. Prototyping / HCIeTSftT [Option ID = 1238278]
2. Calling / SITeiTT [Option ID = 1238279]

3. Declaring / GTSUT [Option ID = 1238280]

4. Defining / GRHTST [Option ID = 1238281]
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Correct Answer :-
e Declaring / Bk [Option ID = 1238280]

54) Slide Master is used to make changes on

ARCY WSS BT H uf¥ad ®1 & fore vaiT far wiar 81
[Question ID = 324306]

1. All the slides / Hlﬁw [Option ID = 1238282]

2. Only a single slide / Fad T WS [Option ID = 1238283]
3. On odd slides / faug WITSH WR [Option ID = 1238284]

4. On even slide / 9 WIggd WR [Option ID = 1238285]

Correct Answer :-
e All the slides / H’l-ﬁw [Option ID = 1238282]

55) Identify the unit that converts user data into machine readable form.
39 ZHTS B! U= &l ToR STl &1 w4 Haa wid # uRafda w2 3t 8:-
[Question ID = 324307]

1. Control unit / ﬁhﬁsib‘l'ap [Option ID = 1238286]
2. ALU unit / ALU GO [Option ID = 1238287]

3. Output unit / 3T3cYC ECOE] [Option ID = 1238288]
4. Input unit / $19C ’s’?ﬂg [Option ID = 1238289]

Correct Answer :-
« Input unit / 99¢ IHTs [Option ID = 1238289]

56) Name the function used to round off value from 1.89 to 2.0.
DI A BRI B Uag I 1.89 B 2.0 TUITH ITAT oI Thdl 82
[Question ID = 324308]

1. Floor / TR [Option ID = 1238290]

2. Ceil / T4 [Option ID = 1238291]

3. Round up (1.89) / ISE 314 (1.89) [Option ID = 1238292]
4. Round to (1.89) / T39S ¢ (1.89) [Option ID = 1238293]

Correct Answer :-
« Ceil / R [Option ID = 1238291]

57) Drawing packages consists of
157 A% =i §:-

[Question ID = 324309]
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1. Lines / dfaaai [Option ID = 1238294]

2. Shapes / 3Tl [Option ID = 1238295]

3. Co-ordinates / GRIid [Option ID = 1238296]
4. All of these / T+ fa®ed [Option ID = 1238297]

Correct Answer :-
« All of these / G4t fa®ed [Option ID = 1238297]

58) Which command is used to add a column/integrity constraint to a table in SQL?

TaHUd ¥ fredt ¢aa § wWH/3=Rd It @l wis & fore o9 W suis &1 Iuah fbar wrar 82
[Question ID = 324310]

1. Alter Table / 3feeX ¢&d [Option ID = 1238298]
2. Insert Column / Efﬂéﬁﬁ'ﬁ[ [Option ID = 1238299]
3. Modify Table / ATSI%TT ¢&d [Option ID = 1238300]
4. All of these / Tt fdded [Option ID = 1238301]

Correct Answer :-
« Alter Table / 3fcex ¢&d [Option ID = 1238298]

59) How many Codd'’s rules are there in SQL server?

THRUA TR H $is & fHan fHaw 819 82 [Question ID = 324311]

1. 10 [Option ID = 1238302]
2. 11 [Option ID = 1238303]
3. 12 [Option ID = 1238304]
4. 13 [Option ID = 1238305]

Correct Answer :-
e 12 [Option ID = 1238304]

60) TRUNCATE command in SQL is used to

SQL # THdT HHIS BT UANT far ST 8
[Question ID = 324312]

1. Delete data from table / °Td ¥ sel fedle a1 & for [Option ID = 1238306]
2. Alter data from table / <8d ¥ ST §&a- & folT [Option ID = 1238307]

3. Modify data from table / Td ¥ 3¢l UM B & 1T [Option ID = 1238308]
4. All of these / Tt fdded [Option ID = 1238309]

Correct Answer :-

« Delete data from table / 8@ ¥ SeT fSaiic B & T [Option ID = 1238306]

61) A column which has the ability to become a primary key is called as

TS 1 Hrad s urgwd) Y 999 o1 " g g, Hear 8|
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[Question ID = 324313]

1. Alternate key / 3fTee-ic &1 [Option ID = 1238310]
2. Candidate key / $33e &1 [Option ID = 1238311]
3. Foreign key / IR &1 [Option ID = 1238312]

4. Composite key / FUIfSTE &I [Option ID = 1238313]

Correct Answer :-
« Candidate key / $f3Se Pt [Option ID = 1238311]

62) A blog is derived from the term

T Y Safa T A ES B
[Question ID = 324314]

1. Webform / 9 BIH [Option ID = 1238314]
2. Webhost / 3§ 8¢ [Option ID = 1238315]

3. Web blog / 99 M [Option ID = 1238316]
4. Weblog / 9§ @NT [Option ID = 1238317]

Correct Answer :-
« Weblog / 9§ @I [Option ID = 1238317]

63) The term EDI stands for

EDI (32131Ms) A aread 2| [Question ID = 324315]

1. Electronic Data Interchange / 3aiaci=ie STl $e¥ddl [Option ID = 1238318]
2. Electric Data Interchange / Scifded Il $exa [Option ID = 1238319]

3. Electronic Data Information / sﬁiﬁffﬁ$ STeT STHTHRA [Option ID = 1238320]
4. Electric Data Information / 3afded STeT 3THIHRM [Option ID = 1238321]

Correct Answer :-
« Electronic Data Interchange / STacIHd STl $exa [Option ID = 1238318]

64) is the largest part of HTML document.

TIdHTd STagic &1 gad 991 fewn 2|
[Question ID = 324316]

1. Head / 8 [Option ID = 1238322]

2. Title / TI3Cd [Option ID = 1238323]

3. Body / Sie! [Option ID = 1238324]

4. All of these / Tt fdded [Option ID = 1238325]

Correct Answer :-
« Body / S8l [Option ID = 1238324]
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In PPT which extensions of sound files can be added to the presentation are?

N & Ade Bisd 5T TRICTH & 1Y USie = | SIIST ol bdl 82
[Question ID = 324317]

.wav files and .JPG files / WAV TTSd 3R .JPG TTSd [Option ID = 1238326]
.jpg files and .gif files / .JPG 3R .GIF B1gd [Option ID = 1238327]

.wav files and .mid files / WAV TTSd 3R .MID WIgdl [Option ID = 1238328]
.wav files and .gif files / WAV TT3d 3R .GIF WISd [Option ID = 1238329]

HwOwnN =

Correct Answer :-
« .wav files and .mid files / .WAV TTsd 3R .MID TTsd [Option ID = 1238328]

66) What kind of software is anti-virus?

TH-arRY fF9 e T AW 82 [Question ID = 324318]

1. Utility / gfeferdt [Option ID = 1238330]

2. Application / T&I&RM [Option ID = 1238331]

3. Operating system / STRfET ey [Option ID = 1238332]
4. System / R1%eH [Option ID = 1238333]

Correct Answer :-

« Utility / gfeferdt [Option ID = 1238330]

67) A link within web pages that takes you to some other section of the same web page is called as

a1 i ot 39 Ol & T a1 & A b amup S I S po s RN A A wrar @ FEam
8| [Question ID = 324319]

1. Hyperlink / 8T8URfcid [Option ID = 1238334]
2. Ulink / g-féfe [Option ID = 1238335]
3. Vlink / @-fefd [Option ID = 1238336]
4. Alink / T-fcieh [Option ID = 1238337]

Correct Answer :-
« Hyperlink / 818URfci® [Option ID = 1238334]

68) If both the inputs of NOR gate are 0, the output will be

3R NOR 71T & 31 §7Y¢ 0 813 & d) 3T 3seye g |
[Question ID = 324320]

1. 1 [Option ID = 1238338]
2. 0 [Option ID = 1238339]
3. 1/0 [Option ID = 1238340]
4. 10 [Option ID = 1238341]

Correct Answer :-
e 1 [Option ID = 1238338]
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69) Which of the following data types is not supported by ANSI?

fFrafafaa # & ANSI f53 STe1 215U ) Ui 98Y H<! 82 [Question ID = 324321]

1. DECIBLE [Option ID = 1238342]
2. INT [Option ID = 1238343]

3. DOUBLE [Option ID = 1238344]
4. REAL [Option ID = 1238345]

Correct Answer :-
o DECIBLE [Option ID = 1238342]

70) The attribute is used to display a specific outer portion of a table border.

ufesge &1 Wl ¢aa aisy & fARky argdt urT g=if 3 vkt faran irar 8
[Question ID = 324322]

1. FRAME / ¥ [Option ID = 1238346]

2. BORDER / §T&R [Option ID = 1238347]

3. HEADER / 88X [Option ID = 1238348]

4. VALIGN / dF 3{aTe [Option ID = 1238349]

Correct Answer :-
« BORDER / §TSX [Option ID = 1238347]

71) HREF is referred as

TIIHREYE T aredd gl

[Question ID = 324323]

1. Hypertext Reference / BTSURCHRE RHBH [Option ID = 1238350]

2. Hypertext Recovery / BRIRRE Rpast [Option ID = 1238351]

3. Hypertext Electronic Fund / BI3URCRE Faiaci-ab s [Option ID = 1238352]
4. Hypertext Electric Fund / §T3URSRE 3afded WS [Option ID = 1238353]

Correct Answer :-
« Hypertext Reference / BI8URCRE RBY [Option ID = 1238350]

72) Select the way the sound file can be added to word document.

TS STEgHC # AT BISd Bl $A SIIST ST Thdl 8?2
[Question ID = 324324]

1. From insert - a File menu option / WWWW - Wﬁﬁ[@[ [Option ID = 1238354]

2. From insert - a Subject menu option / 3¢ &1 [d@ed TR - Feolde ] I [Option ID = 1238355]
3. From insert - a object menu option /3¢ &1 fdded g - 3issiae A ¥ [Option ID = 1238356]
4. From insert - a Sound menu option / ¢ &I fadhed gaR- WSS A [Option ID = 1238357]
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Correct Answer :-
« From insert - a object menu option /3¢ &1 fdded FAAHR - 3ffssiae B F [Option ID = 1238356]

73) provides the facility to create link between web pages.

39 Uoil & fHa A i T 3t Gfawr ue™ Ha1 3 | [Question ID = 324325]

1. HTML / T=IITATA [Option ID = 1238358]

2. Hyperlink / BT3WRfdi® [Option ID = 1238359]
3. Frame / %H [Option ID = 1238360]

4. Inline / T [Option ID = 1238361]

Correct Answer :-
« Hyperlink / 8I3URfidh [Option ID = 1238359]

74) If 'a' and 'b' are the inputs and 'O’ is the output, then which of following represents output of
NAND gate?

3R 'a" 3R 'b" §4YC TG '0" &, d) 370 ¥ S NAND gate HT 3TSCYC STl &2 [Question ID = 324326]

1. O=a [Option ID = 1238362]

2. O=(a.b)' [Option ID = 1238363]
3. O=ab [Option ID = 1238364]

4. 0=(a+b)' [Option ID = 1238365]

Correct Answer :-
e O=(a.b)' [Option ID = 1238363]

75) In K-map, each square is represented by

K-map #, 83 T &1 GRI ST ST 2 |
[Question ID = 324327]

1. Min term / o oo [Option ID = 1238366]

2. Max term / B9 @H [Option ID = 1238367]

3. Average term / Tl ¥ [Option ID = 1238368]

4. None of these / 378 ¥ &3 +t A&l [Option ID = 1238369]

Correct Answer :-
« Minterm / fiF ] [Option ID = 1238366]

76) Veitch diagram is also known as

a5 STAUTH HI A9 & i} ST SITaT 8| [Question ID = 324328]

1. logic gate / QST T [Option ID = 1238370]

2. K-map / F-AY [Option ID = 1238371]

3. HTML [Option ID = 1238372]

4. Venn Diagram / 99 STGUTH [Option ID = 1238373]

Correct Answer :-
Question Discarded
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77) The rows are added to the relations using command.

PHIS BT TGN B & AR # I B SiIST ST 8| [Question ID = 324329]

1. INSERT [Option ID = 1238374]
2. UPDATE [Option ID = 1238375]
3. CREATE [Option ID = 1238376]
4. ALTER [Option ID = 1238377]

Correct Answer :-
o INSERT [Option ID = 1238374]

78) With reference to switching functions, 4- square is called

== v & g<H A 4-R PHEATT ¢8| [Question ID = 324330]

1. Quad / %S [Option ID = 1238378]
2. Octet / 3fidee [Option ID = 1238379]
3. Cube / &Jd [Option ID = 1238380]
4. Binary / TSR [Option ID = 1238381]

Correct Answer :-
« Quad / &S [Option ID = 1238378]

79) In which type of network is each device connected directly to a central network switch?

59 TPR ¥ Acad A U fSarsy N Fy Acad = | ST 8191 82 [Question ID = 324331]

1. Ring / I [Option ID = 1238382]
2. Mesh / A7 [Option ID = 1238383]
3. Star / ¥R [Option ID = 1238384]
4. Tree / €1 [Option ID = 1238385]

Correct Answer :-
e Star / IR [Option ID = 1238384]

80) Which of these require a URL to connect to a website?

37U A DI AqUIgC T FATE P P [T YARTS HT TANT HIaT 82 [Question ID = 324332]

1. Browser / SIT3SIR [Option ID = 1238386]

2. Spam / T [Option ID = 1238387]

3. Utilities / gfeferds [Option ID = 1238388]
4. Protocols / WeidIed [Option ID = 1238389]

Correct Answer :-
» Browser / SII3R [Option ID = 1238386]
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%! 25 ATE %. T oh T K0T W ST shl X

T & fu T R |

FeRluig

(I) B Hehal 2 TTASTeh &5 o Sh 25 AT E.
o o Gt ST SR O IS < ST < |

(I1) 21 TehdT & T TR St 1 g
AT 33T |

e fow T m § g o (7) % W WoEn
IR ?

EFI, CDG, PQT, ?

(A) UVY

(B) KMP

(C) ABG

(D) MMR

foreft g 99T § ‘PLEASE’ ® ‘QNHEXK’
foren St 2t 35 ey § - SHARMA i
¥ foran smom?

(A) TIDVRG

(B) TKDURG

(C) TICVRE

(D) TDJVRG
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HATEETT : THTEIR : THTER U5 o GUH Teie 2
(A) forEm™ : wES: WIS

(B) TIftrst : #iwe : fmfor

(C) &1 : UH! : dTedTsl

(D) | : dTET : A

@ wr ‘BF, IM’ € TRl ®, SHY TR
‘HL’ TEfa R |

(A) PT®

(B) NR &

(C) OR &

(D) OS &

FreforRad gw o €4 718 S7eR sTEe o @it Ty

W ¥ e W Fafifad § & wF-31 31a)
gYE 38 I HAT 7

QST_, QS_R, Q_TR, _STR
(A) SQTR
(B) RTSQ
(C) TRQS
(D) TSRQ

Freforfad e o fow gu foreredi ® @ 39 w1ee =Rl
e st A= o e wres | wiive S1e |
T |

PERMANENT
(A) REMNANT
(B) TRAMP
(C) MENTOR
(D) AMPERE
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58.

59.

60.

Ife foreft TTehider W1 @ SAGE sl 4169 qen
PERT =l 7928 for@m Sian 2, ot 3H) 9 8
STEP = for YR foram stmarm ?

(A) 4897
(B) 4987
(C) 4197

(D) 4387

THR & foem 31 TR 48 Foh @21 o1 | 9% 3T
T4 T 3R 5 Hiet =i, T 3199 q1e get 3in
7 Wi e | TR % a1 et 31K 4 Hiet = |
319 35k g for faem <t 3T 8 7

(A) I

(B) sfarm

(C) ufrem

(D) IR-ufrem

THYT 3194 B Y 10 HY. & T 3T’ g8 a9 &

T8 379 3T¢ FeT 37K iR 10 HY. =@ | f e
TR 5 HY. T@H % a8 IA: 910 g7 3R

15 Y. =T | 37e 98 39 ST TSR 15 HY. =]
A I AW WA fhat R @I 2 ?

(A) 107
(B) 154
(C) 20,
(D) 5.
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BT 1 T Ufad T T Ul o i o & 21
T W Z | T3 ufekd § foha s & 7

(A) 42

(B) 41

(C) 43

(D) 40

qfi84®72 =45
63®41 = 33 ;
74@52 = 33 ;
ar
94®82 =7
(A) 45
(B) 59
(C) 56
(D) 65

FfeP, Q, RIS FHFMIH G R & fored P
FHT AR R 2 IS HIIRRQ R | R, Sl ufzm
1 IR g@Efae 7, % AT S| ‘Q FRm
fem it st gafoa 3 7
(A) S

(C) ©

W 4 I IR S @ 2 | I 37 IR A IR
ST ® o 38 Frefefea § @ R faeen
FATE A& AT AT, 7

(A) M, T@, 9@, T, <&

(B) TH, TH, I, 9, oI

(C) Td, el e

(D) 3H, 91, TH, 9

(B) sfarm
(D) ufyem
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65.

66.

67.

U &k A, B, C, D 3R E T o 30 T 39
TR T EE & foh A’ SHCE'R, ‘D' F A= C
2, D'HSIW AR I C FH A B R | R
forame ged fR W gE ® 7

(A) C

(B) D

(C) B

(D) A

Ueh oY ferd Weh TAM @ 3T hl 3T 20 HieT Feal
2 | 3G 918 9% I1fed Jea 30 Hiet I ¢ |
3G 918 97 aTfe- G 35 Hiet IerdT & | 3T
ST 7 ATE [ 15 Hie =Tl & 791 I : a1
g 15 HeX =IeAaT 2 |
T AT Sl sraen @ forg fawm @ fopat
w7

(A) 15 Hrex ufyem

(B) 30 Hegd

(C) 30 Hiex ufem

(D) 45T gd

e o o fospent # @ @t forehen SR I
e o v w fafe |

(®) L) 29)
(A) 60
(B) 50

(C) 25
(D) 35
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Ifs vyeftel, feietl 3R AUeR uTashi i 3R
g fafia foren Se ot fferfea & @ 69 @
IR 3 A1 Rl o o= T ol TaH €9 Y
T g ?

o@D

= few e forehedi ® & T foered g@ Ryt
EIR DY

HV, GT, FR,EP,DN,
(A) KL
(B) LM
(C) NO

(D) CL

‘e’ T | IH atE Heted & 58 TR
AT aweafm)

(A) 7E

(B) o

(C) gw

(D) %
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71.

72.

T T 3 WISR1 o of e oh EeiY oh STHR W fu M
Toreredl @ Wt ST W B A R -
gfay : sAfoaTfed

(A) FEHR : FaTdt

(B) hcish THTHT : HHRTH AT

(C) P9I : 3SR
(D) tew gfg : Fowera

T I | Thfal o o1 TE feu e E | v wE
1 I3 TR 3T TR Y T ATt Fed
& | ST AR I A, B, C, D g 3111 T
B 1 e T 3 T T SR 3T ST St
1T ok et sjett s ST ?

T SR

—o|
LN

—|

T

T—l—=|N\] L]

Nl =ININ -~

I SATFRIAT

(A) T

\I1

(B)

SN N

(C)

K

(D)

N
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73. Uk ©F, TS ST (FeTR) W ISR 3Hfohd
2, ol A 37T 3t feufaa o qwrian wm R,
S fop aterT-aten fesnati @ @ S Hehar © |
e e, o v fore @ Sferd fora mman g,
%I 1A R |
D S
S W
M M
Y W
D 2
U U
(A) S (B) D
(C) Y (D) M
74. e ot e, St ATAT 6 Yo Hay 9
YHAe?
® (OO0
o@D
75. e ‘4 wmiacE g -, X wmraed ® 4
‘A ® xR - A e+, aw
48 +6x2—1 + 4 1 GROTH =1 & 7
(A) 85/2 (B) 47
(C) 50 (D) 11
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76.

77.

78.

79.

80.

000K OO A O

BE 1 ufFd § ok ufdd % o iR @ grad

T W AR AY e AR E 12 TH R |91

ek 3T WY STHT T 30 § o1ed ofd & dl

ek Uferd o =TC BR & 22 & T W81 ST |
Ul § Fof BET hI AT TR 7

(A) 29 (B) 19

(C) 33 (D) 31

T Ther 3@ 9 T 9t ™ o | 9% R
Tforam o o fhew <@a ST | IdTET 379 e
wAAE g ?

(A) HaR
(C) THaR

(B) WiHaR
(D) WTAAR

foreft eI H ' JOSEPH’ %1 ‘FKOALD' ferat
T 8, q 35 9T § ‘GEORGE’ 3l 8 %9,
Tora St ?

(A) CBINCA (B) CANKCA

(C) CAKNCA (D) CAKCNA

‘A’, ‘B’ 3ﬁT ‘C’Wﬁ?ﬂ%l ‘B’, ‘A’WQ}[%W{
‘C, A HTIA TR R | “C T A’ |l R e
27

(A) Tt

(B) T

(C) seisft /st

(D) 3T & 1S el
frerfrRad § & yeeein 1 Ted Tee FieE Iee
g ?

(A) PRISM (B) PRISON

(C) PREY (D) PRAY
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AT — 3 : A Ta@™ / Computer Science

FoReH el ST e (HEE) § 1960
39T T GO R TR 7
(A) T ST
(C) fom w=d <t

COEISEES]
(D) ¥ 5
R T AT TR AR IS i AT ST Ll
g7
(A) HTSHITEE
(C) A Srenfireht

(B) dHH =
(D) Fbm sfgr

e fowh (Hiet) i =1 wier TR 2 ?
(A) e wyfa

(B) RAM

(C) ROM

(D) HTEAfHe BRI
FER T TE 7

(A) Tl TR

(B) AT T =T

(C) HeTEE o oI weh 37 Am

(D) 3Tt wyfd

1 fet gt # U AT T R 7
(A) STHATTRT (B) WIEHHTF
(C) s (D) TdEmE

I U uftety fearse TEi @ 7
(A) ST vew 3T

(B) T AH o

(C) mieH

(D) U gr3a
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81.

82.

83.

84.

85.

86.

Who designed supercomputers in 1960s
at Control Data Corporation (CDC) ?

(A) Alan Turing

(B) Charles Babbage
(C) Tim Berners-Lee
(D) Seymour Cray

What differentiates second and third
generation of computers ?

(A) Microprocessor
(B) Vacuum tube

(C) Nano technology
(D) Artificial intelligence

Compact Disk (CD) is which type of
memory ?

(A) Primary Memory
(B) RAM

(C) ROM

(D) Secondary Memory

Bus in computer is

(A) Networking device

(B) Bunch of wires

(C) Another name for Motherboard
(D) Internal Memory

Which is NOT a software in following list ?
(A) OpenOffice (B) Microsoft
(C) DOS (D) Antivirus

Which is NOT a peripheral device ?
(A) Visual display unit
(B) Main Memory chip
(C) Modem
(D) Pen Drive
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87. U UeTIeR il complexity Sfdfferea sar 2
(A) foore
(B) e
(C) HATUsEAl
(D) &ar
88. Computation logic ! ferdeh 3w @ visually
fomn s EhaT ? 7
(A) fogere siferh
(B) Wiaddl
(C) vam fu=
(D) VI HUTEsH

89. THISRMA # (BABA) s A H IR 7
(A) 134272
(B) 132272
(C) 135272
(D) 135242

90. 4.77 MRS 3 10 ATMMESS o 3<TeL0l &
(A) 110 Tifa
(B) 2T LTI T
(C) e uet i wufdrfthere

(D) STT HSRUT i

91. ATt MM it fereem = Sfén an & 7% Fef
WRER ?
(A) TR fewh 0 ¢
(B) foreft +fi fearsw
(C) RAM
(D) ROM
DHC TS12-WM
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87.

88.

89.

90.

91.

Complexity of an algorithm represents its
(A) Performance

(B) Toughness

(C) Obscurity

(D) Correctness

Computation logic can be represented
visually by using

(A) Visual Basic

(B) Foxpro

(C) Flow chart

(D) VI editor

(BABA), ¢ in hexadecimal is what in octal ?
(A) 134272
(B) 132272
(C) 135272
(D) 135242

4.77 Mhz and 10 Mhz are examples of
(A) 1/O speed
(B) Data Transfer speed
(C) Computer clock speed specification

(D) Data storage speed

Boot Loader program which invokes

booting of the system is stored in
(A) Hard disc 0 track
(B) Any device
(C) RAM
(D) ROM
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93.
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95.

96.
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g1 fommfa form o g0 UshT ST HhaT B 7

SR S 12,000 T3 © S ereh e ST =T |
DR

(A) 3ITEEar aen

(B) wafld amen

(C) 3fersr uftsmfyg amen
(D) AT STe

Ty fEsTTe o e § e 1 8 o wieer &

(A) Tafire arfersprett it ve=m

(B) 7ot farsrwanett & @er &t st fAmfor
(C) A= 3wl 37K Sereiy STadae i o
(D) 3k |t

relation # attributes 31 T 31 a1 ST §
(A) St
(B) ferft
(C) &=[Ieq
(D) 3T

table T column forH % &9 § ST ST © 7
(A) =
(B) T@
(C) 3hiE
(D) feift
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96.

Data inconsistency can be prevented by
preventing

(A) Redundancy

(B) Metadata

(C) Deadlocks

(D) Multiprogramming

Employee salary should not be greater
than Rs. 12,000. This is

(A) Integrity constraint
(B) Referential constraint
(C) Over-defined constraint

(D) Feasible constraint

Database Design includes the functions like
(A) Identification of different tables
(B) Creation of fields with their attributes

(C) Creating validation rules and

database interrelationships

(D) All of the above

The number of attributes in relation is called
as its

(A) Cardinality
(B) Degree
(C) Tuples
(D) Entity

The column of a table is referred to as the
(A) tuple

(B) attribute

(C) entity

(D) degree
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98.

99.

100.
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ACID T[Tt %1 &2 2 51 reliably =it TRET ® | T&f
A%

(A) T

(B) SATOTiereRal

(C) T

(D) GaeH

wiaadl § ‘DELE’ AT JoT foham ST 2
(A) Tt et gem & o

(B) dfeteht g2 o ford

(C) et fwhiE gem & o

(D) =M o foru ferté fafea =t

%I 3Tl § AT user AT S ?
(A) CREATE USER Susan;

(B) CREATE OR REPLACE USER

Susan;

(C) CREATE NEW USER Susan
DEFAULT;

(D) CREATE USER SusanIDENTIFIED
BY blue;

fferiaa # fred i e 7
(A) Select*from EMP where EMPID = 15;

(B) Select EMPID from EMP where
EMPID = 15;

(C) Select EMPID from EMP;

(D) Select EMPID where EMPID = 15
and LASTNAME = ‘Singh’;
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98.

99.

100.

ACID is a set of properties that guarantee
that database transactions are processed
reliably. Here A stands for

(A) Access

(B) Atomicity
(C) Algorithm
(D) Affiliation

In FoxPro the command ‘DELE’ is used to
(A) Delete all records
(B) Delete table
(C) Delete marked records

(D) Mark the records for deletion

Which statement creates a new user in
ORACLE ?

(A) CREATE USER Susan;
(B) CREATE OR REPLACE USER

Susan;

(C) CREATE NEW USER Susan
DEFAULT;

(D) CREATE USER SusanIDENTIFIED
BY blue;

Which of the following statement contains
an error ?

(A) Select*from EMP where EMPID = 15;

(B) Select EMPID from EMP where
EMPID = 15;

(C) Select EMPID from EMP;

(D) Select EMPID where EMPID = 15
and LASTNAME = ‘Singh’;
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Topelt qfcreht # i Wies foraxft Feil o w9 #
INRISIRECIRI

(A) = [l arfcreRtett # HISE @

(B) =& fgeta A @

(C) FB 1= qTfeTeht | Teh TeIfire it 2
(D) Toreft oft a1y nforent & Higg 72 ®

HIgA HHTH T Haeid 2 o T Bigd

(A) STel 7 I8 e e 8, =g B

(B) Hepfera foham o 2

(C) RAM T Isg318 TM! § §UEIA 2
(D) feeh & 7 Fegarg T § Tudd B
TEeE I G ok GRS #
TR S |

(A) & TEA

(B) sTar1 femd

(C) <1 uThi

P ECKIES

4 =i 9T U fewh Uk ok T wie |
2655 3% e 3k | 125 Tl 3T Jcdsh Tl
¥ 512 913" &, U GURY (WRS) &HaT
ke o

(A) 1GB

(B) 1 MB

(C) 1TB

(D) 1280 KB

101.

102.

103.

104.
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A field in a table can be taken as a foreign

key if
(A) Itis presentin all other tables
(B) It has unique values
(C) Is a primary key in some other table

(D) Is not present in any other table

File fragmentation means that a file
(A) Is unusable until it is defragmented
(B) Has been compressed

(C) Is stored in noncontiguous locations
in RAM

(D) Is stored in noncontiguous locations
in disk
Information about the structure of Database
is stored in
(A) Data File
(B) Data Dictionary
(C) Data Components

(D) Data Model

Storage Capacity of a disk pack consisting
of 4 plates each having 2655 tracks having
125 sectors per track, each sector having

512 bytes is approx.
(A) 1GB

(B) 1 MB

(C) 1TB

(D) 1280 KB
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105.

106.

107.

108.

109.

Frfetiaa o € -8 31 21 ¢ e I faeH
61 g A § ¢

(A) Master, FAT

(B) Slave, FAT

(C) Primary, Active

(D) Primary, NTFS

S i TUW U fUeeed & fore 8 forew wem
FA 7, 79 39 i & T Yefdia
T THA ¢ |

(A) 32

(B) 64

(C) 256

(D) 1,024

HISTIF THITH & Th
(A) 3T FATES

(B) TE

(C) @ 551

(D) ITUh § H IS AL

frafafaa & @ wF-T1 T arE Y g
frerten 2 < wRar ¢

(A) T o

(B) EXE gt

(C) =€ wreed

(D) Hrius wrged

T TEATSS AT T ST ST 9d T A o6
fore forshed 2

(A) HH AR
(B) H It

(C) g
(D) IWIh | U I3 T
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106.

107.

108.

109.

Which two terms identify a bootable
partition ?

(A) Master, FAT

(B) Slave, FAT

(C) Primary, Active

(D) Primary, NTFS

When a program assigns 8 bits to a pixel,
that pixel can display one of up to
colors.

(A) 32
(B) 64
(C) 256
(D) 1,024

Outlook Express is a
(A) E-mail client
(B) Browser
(C) Search engine

(D) None of the above

Which of the following cannot be removed
by Anti Virus Package ?

(A) SPAM mail
(B) EXE files
(C) Word files
(D) PDF files

The option for sending same document or
letter at different addresses is

(A) Form letters

(B) Mailmerge

(C) Printing

(D) None of the above
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TS ThHiF C$4 T 3T &
(A) T  foru Frdes Thig
(B) & o ToTe wmdes Thte
(C) T o foru furfsa Thig
(D) T & foIu T ThiE

110.

111. MS-EXCEL @i Ts foeryar foreft g srer @
R fordl 371 ST W2 # gY Nadd & I9E
SR o o | weg Rt B, 9
MS-EXCEL weaTd 2 |

(A) eTeT fhet

(B) =i

(C) RRE-TH FATTRE

(D) st fadst ()

112,  STRIHS o SATHT-3TET &1 H e oh shidl HiHS
& foru fershed =1 gATa foRam ST

H

(A) Format > Paragraph

(B) Format Painter
(C) Edit > Copy
(D) & forat ST Hepat &

T STAHS § GO STagAC A e Tl ol hride
3 o fore zm IO LA B |

(A) Insert > Bookmark

113.

(B) Insert > Hyperlink
(C) File > PageSetup > Link

(D) Insert > Footnote
DHC TS12-WM
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110. The cell reference C$4 is an example of
(A) Absolute reference to cell
(B) Relative reference to cell
(C) Mixed reference to cell

(D) Simple reference to cell

111. Afeature in MS-EXCEL helping in decision

making by observing the effect of change
in conditions on one data set on another

data set is called MS-EXCEL
(A) Data filter
(B) Charting
(C) What-if analysis

(D) Data series

112. Copying format of text to different areas of

document is done using option
(A) Format > Paragraph
(B) Format Painter
(C) Edit > Copy

(D) Cannot be done

113. Toconnect a text phrase in a document to

another document we use
(A) Insert > Bookmark
(B) Insert > Hyperlink
(C) File > PageSetup > Link

(D) Insert > Footnote
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MS-EXCEL H #shisl ! 390 ofoid o8 foram
EIRETI R

(A) MS-EXCEL H TTfthad STieahe Fett SHT

(B) TR & BIe The

(C) MS-EXCEL # fadsm frifém am am-
R ¥TTdshe ST oh HTEAH & W o fore
BT T FET

(D) STiEahe o HTEH H WIST S o BIE THS

114.

115. MS-EXCEL &I gesfle I § $9¢ & o ford

ST sTeneAT 3R R & Tt e o Yo
=1 gftnfya iR

(A) =1 efeem

(B) eI sheiet

(C) Ta1 AfaeyH

(D) a1 &

MS-WORD # Sedhete JRRT BIAe Sl ST
T o o g foreken @

(A) Insert > Autotext > Formula

116.

(B) Table > Formula

(C) Format > Paragraph
(D) 3URE A B IS oft T

FeaT13e aTe faehey =1 e Swm ®
(A) TSI I TEfT ST 3T ITASH FHIHT
I1ed &
(B) &R, B, fafdr ot ww St glaensi
Y S7gufd o
(C) TS W TATE hl Y TGl hl STA
ECi
(D) IWIih Tt
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Macros in MS-EXCEL may be best
described as follows

(A) Create graphics shortcut keys in
MS-EXCEL

(B) Small pieces of textual phrases

(C) Recording instructions in MS-EXCEL
or creating small programs to be
repeatedly played thru shortcut keys

(D) Playing pieces of text thru shortcuts

Defining constraints and rules regarding
the range and type of data that can be
inputted in a worksheet range in MS-
EXCEL is called

(A) Data Testing
(B) Data Control
(C) Data Validation
(D) Data Query

It is possible to calculate using formula in
MS-WORD using option

(A) Insert > Autotext > Formula

(B) Table > Formula

(C) Format > Paragraph

(D) None of the above

Handout Master option has the following
use

(A) Handouts of presentations that you
wish to make available

(B) Allows features like header, footer,
date and time

(C) Allows miniature presentation of
slides on paper

(D) All of the above
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121.

122.

MS-EXCEL ® @fear fashed forg fore s
IEZIS G

(A) ST fasewor

(B) 31 T2 & foTu 31a g1 Ufsamwm

(C) =1 wIAfET

(D) TifeTshr auetei sl gererT

o, 37 3T AT H q&T TR RTR 7
(A) 3Tk T

(B) 3T Tl T

(C) T3 i ATTd

(D) simifass e

e o AT | e e R

(A) &R THHRT TS AT

(B) TR UHIHE = Seal AT
(C) UftHtew it Tafan

(D) TE@E | FH AN

Ife 3 Telnet a1 FTP o1 ST s R© & dl,
T G=id A & foTu 3=am wa fmferfaa
o g - gt ?

(A) TATRIH

(B) Usiew™

(C) B (%)

(D) gz

f=feifaa § @ sH-81 TCP/IP Yieishial T
T3 & gl 7T W ek T % fore
TR 95 o foTt uftetehe™ s st s1qfa
e ?

(A) UDP
(B) VMTP
(C) X.25
(D) SMTP
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Solver option in MS-EXCEL is used for
(A) Data Analysis
(B) Data prediction for different data sets
(C) Formatting of data

(D) Solving statistical problems

What is the main difference between
LAN'’s, WAN’s and MAN’s ?

(A) Their names
(B) Their Data rates
(C) Cost of setup

(D) Geographical coverage

Benefits of a network do not include
(A) Improved information sharing

(B) Better monitoring of
performance

worker

(C) Sharing of peripherals

(D) Low maintenance cost

If you use either Telnet or FTP, which is
the highest layer you are using to transmit
data ?

(A) Application
(B) Presentation
(C) Session
(D) Transport

Which of the following TCP/IP protocol
allows an application program on one
machine to send a datagram to an
application program on another machine ?

(A) UDP
(B) VMTP
(C) X.25
(D) SMTP
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123.

124.

125.

126.

127.
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TieH SATBIA A5 3R Y ST 2 |
(A) ST
(B) X

(C) FRIFhM TR
(D) Hifer (shiwer) e

F aTfcTent 1 Ievd F1 7 7

(A) TS T TGH Tl HURIA FEAT
(B) TTdsd USH 1 T T FqHT
(C) weash FE

O REREANIEEEE NN RINRCISE]

OS| g ATfheder |, Hamg-T=m i
JdA-Teed  *hfu e R

(A) T (BIF) I

(B) T @I

(C) e T

(D) ETeT fotsh TR

Tod TReT feen gt ®9 8 €

(A) TS FATEE Ha foeeH

(B) $gme foreen senfia

(C) TfcwT (Tee) FeTse weR firen
(D) (B) 3 (C)

fmfafaa & @ -9 WAN TEamR F foro
MY 2 7

(A) for=t

(B) fer=

(C) WX

(D) HRRATA
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A modem is connected in between a
telephone line and a

(A) network

(B) computer

(C) communication adapter
(D) serial port

What is the purpose of a routing table ?

(A) To store every address of every
node

(B) To know the exact location of
destination address

(C) To flood network

(D) To find most efficient route to the
destination

In OSI network architecture, the dialogue
control and token management are
responsibilities of OSI

(A) Session layer
(B) Network layer
(C) Transport layer
(D) Data link layer

Railway Reservation
basically

Systems are

(A) simple client server systems

(B) intranet based systems

(C) fast distributed networked systems
(D) (B) and (C)

Which of the following is essential for WAN
hardware ?

(A) Bridge
(B) Switch
(C) Router
(D) Firewall
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128.

129.

130.

131.

132.

FHITET TEhid Alohed TSaTSH o BISa Ud ohl
@iei & fote s feran ST @ 7

(A) RARP
(B) ARP
(C) IP
(D) ICMP

T AT STANT A T R Gk § 7
(A) o T I Aigd & T T &
(B) TR Srgedi st St W 3T 2ot Sfteeh

TN T R 2 STt 8

(C) 15 i T

(D) oiga & &t Tfd & ST X

TCP/IP # U1 Te forcm =
BATE |

(A) 32

(B) 48

(C) 16

(D) IWIeh § 8 i ot T

fote S e 8 i atE SRR R | $e
21 gTeH o T T JA BT R
(A) el @Ted

(B) foriem areAl

(C) i g =

(D) 3IWiad |sft

frfafaa feargai & @ fra =i a1 forarm =i
e S o foTq IuT ot STt &, @ s
qa e fawen # e Wiershiet 1 3w feman
TR ?

(A) & (B) fort

(C) ea (D) frdfiex
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128.

129.

130.

131.

132.

What protocol is used to find the hardware
address of a local device ?

(A) RARP
(B) ARP
(C) IP
(D) ICMP

What is the drawback of using a BUS
topology ?
(A) Only a pair of nodes can be connected

(B) Performance degrades as additional
computers are added or on heavy traffic

(C) There are no drawbacks

(D) Very slow data rates

Port address in TCP/IP is bits
long.

(A) 32

(B) 48

(C) 16

(D) None of the above

A remote batch-processing operation in
which data is solely input to a central
computer would require

(A) telegraph line

(B) simplex lines

(C) mixed bad channel
(D) all of the above

Which of the following device is used to
connect two systems, especially if the
systems use different protocols ?

(A) hub (B) bridge

(C) gateway (D) repeater

*
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133.

134.

135.

136.

e ATk 255.255.255.248 1 3TN ieh
foha Biee ifFHTR ford ST aehRd & 7

(A) 6

(B) 248

(C) 48

(D) 255

SHIET 9T 192.168.10.51 2T 1D =1 feean
7, Tfi fepiee Teme ureh ?

(A) 192

(B) 192.168.10

(C) 0.0.05

(D) 51

feferfiaa o @ -t afda Sl & w2
g7
i) Sroedid
ii) ToTmdidt
iii) T
iv) JaEddt
v) THddt
(A) i) 3T i)
(B) i), iii) 3R v)
(C) i), ii) 3T iv)
(D) i), iii) 3T iv)
Fdle URL T T8AT AT & S
I GUTEAT ! THIE i o T AT L |
(A) TgH
(B) ™
(C) WrheH
(D) Wiershia
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133. How many hosts can be configured using

a subnet mask 255.255.255.248 ?
(A) 6

(B) 248

(C) 48

(D) 255

134. Whatpartof 192.168.10.51 is the Network

ID, assuming a default subnet mask ?
(A) 192

(B) 192.168.10

(C) 0.0.05

(D) 51

135.  Which of the following services use TCP ?

i) DHCP

i) SMTP

iy HTTP

iv) TFTP

v) FTP

(A) i) andii)

(B) i), iii) and v)

(C) i), i) and iv)

(D) i), iii) and iv)

136. The first part of a complete URL is the

needed to access the web

resource.
(A) address
(B) name

(C) location

(D) protocol
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XML H “X” %1 o1 279 & 7
(A) Mixed
(B) Cross-platform
(C) Extensible

(D) Exclusive

137.

138. Web.config TS ST IUANT TehRaT ST &

(A) 3 TEH T HIHT L STel Tl HTEE IS
farerée Hiese Feemar B

(B) s Tt %l Shif-HTR L o foTw

(C) 39 TSR FI HIHR 0 o fTQ

(D) TeAThyH & fod Tefierel SHEsH 3R
et ST TR T

ASP # fepice ferfedn amr & |
(A) EcmaScript

(B) VBScript

(C) PERL

139.

(D) JavaScript

o= StTan fesree shie o1 aRomm F=T R 7

<script type=“text/javascript”
language ="javascript™>

140.

var gpt = new Array();

gpt[0] = “WebDevelopment”;

gpt[1] =“ApplicationDevelopment”
gpt[2] =“Testing”

gpt[3] = “QualityPointTechnologies”;
document.write(gpt[0, 1, 2, 3]) ;
</script>

(A) 3fe
(B) QualityPointTechnologies
(C) WebDevelopment

(D) Web Development, Application
Development, Testing, Quality Point
Technologies
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137. What does the “X” in XML stand for ?

(A) Mixed

(B) Cross-platform
(C) Extensible
(D) Exclusive

138. Web.config file is used

(A) Configures the time that the server-
side code behind module is called

(B) To configure the web server

(C) To configure the web browser

(D) To store the global information and
variable definitions for the application

139. Default scripting language in ASP
(A) EcmaScript

(B) VBScript

(C) PERL

(D) JavaScript

140. What is the output of the below java script

code ?

<script type="text/javascript”
language ="javascript”>

var gpt = new Array();

gpt[0] = “WebDevelopment”;

gpt[1] =“ApplicationDevelopment”
gpt[2] =“Testing”

gpt[3] = “QualityPointTechnologies”;
document.write(gpt[0, 1, 2, 3]) ;
</script>

(A) Error
(B) QualityPointTechnologies
(C) WebDevelopment

(D) Web Development, Application
Development, Testing, Quality Point
Technologies
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141.

142.

143.

144.
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USRS gfeferfe T H, shuTger ufeet afy
=l UNIX OS ¥ 55 fireen erieet) # gufed
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(A) dev
(B) etc
(C) bin
(D) Usr

UNIX OS % f&eed g 3R gieferet wmm,
TTEEE qUT AT HIged e
FEUdaed e |

(A) fom

(B) T

(C) STsA

(D) @mfe
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Executable utility programs, compilers
editors etc. are stored in UNIX OS in the

system directory called
(A) dev
(B) etc
(C) bin
(D) Usr

System data and utility programs,
password and login files in UNIX OS are

stored in directory.
(A) bin

(B) user

(C) profile

(D) etc

When creating a Web document, what
format is used to express an image’s height

and width ?
(A) Centimeters
(B) Pixels
(C) Dots per inch
(D) Inches

What is the process that condenses files
to be stored in less space and therefore,

sent faster over the Internet ?
(A) Data condensation

(B) Data compression

(C) Zipping

(D) Defragmentation
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145.

146.

147.

148.

149.
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St & frem | e
(A) W:X\)v

(B) XvY=X"Y

(C) Both

(D) None of these

Boolean function X.Y.Z+ X.Y.Z + X.Y.Z + X.Y
fore o seR B 7

(A) X*Y

(B) Y

€ z

(D) ¥ T 1S e

e Fefaftad e commutative law 2 7
(A) X+Y)+Z=X+(Y+2)

B) X. (Y +2)=(X.Y)+ (X.2)
C) X+Y=Y+X
(D) X+ X=X

TS qfcta T8 31 Dual T ST 8
(A) I 3R T I AeAT-wael! &
(B) @t I I U & Fgeq @

(C) |eft U ol T[T © Fqe o
(D) @+t I, T TS . h + W G T

Minterm Xm (% 3,5,6) fo@ maxterm &
TR ?

(A) TIM(0, 3, 7)
(B) TIM(0, 2,4,7)
(C) TIM(0,3,4,7)

(D) 37 @ IS el

145.

146.

147.

148.
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De Morgan’s law states

(A) X*Y=X,Y

(B) Xvy=X"Y
(C) Both
(D) None of these

Truth table of Boolean function

XY.Z+XY.Z+XY.Z+X.Y matches with
(A) xry

B)Y

(O

(D) None of these

Which of the following statement
represents commutative law ?

(A) X+Y)+Z2=X+(Y+2)
B) X. (Y +2)=(X.Y)+ (X.2)
(C) X+Y=Y+X

(D) X+ X=X

Dual of a Boolean theorem is obtained by
(A) Interchanging all zero and ones only
(B) Changing all zero to one only
(C) Changing all ones to zero

(D) Interchanging all zero and ones and

.0+

Minterm Xm(J, 3,5, 6) equals to maxterm
(A) TIM(O, 3,7)
(B) TIM(C, 2,4,7)
(C) TIM(0, 3,4, 7)

(D) None of these
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150.

151.

152.

153.

154.

Th AR (X + Y + Z).(X+ Y +2)3
(A) SOP form
(B) POS form
(C) Standard POS form
(D) Standard SOP form

ferr srfieafd
X+Y+2).(X+Y+2)(X+Z) B FE
ELRCRIESIRICT R

(A) X+Y

(B) X+(Y+2)

(C) X+(Y+2)

(D) X+(Y+2)

o =R @ e tfveafad Ffa form s werar
g7

(A) 64

(B) 256

(C) 512

(D) 1024

AT T WIS h shl qard TTell Termiiien
e Tmg T ® 7

(A) O (n)

(B) O (log n)

(C) O (nlogn)

(D) T & i3 e

Quick sort it T&8 wTET g qgar et |
YR A fora < Tkt 3 7

(A) R G fafy
(B) wgfgshishur
(C) et farfer
(D) T8 @ s e
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150.

151.

152.

153.

154.

Thelogicexpression (X + Y + Z).(X + Y + Z)
is called

(A) SOP form

(B) POS form

(C) Standard POS form

(D) Standard SOP form

Boolean function
(X+Y+2).(X+Y+Z).(X+2Z) can be
minimized to

(A) X+Y

(B) X+(Y+2)
(C) X+(Y+2)
(D) X+(Y+2)

How many Boolean functions of three
variables are there ?

(A) 64

(B) 256
(C) 512
(D) 1024

Most effective algorithm which finds the
median of an unsorted, n size array would
take the time

(A) O (n)

(B) O (log n)

(C) O (nlogn)
(D) none of these

Worst case efficiency of quick sort over
an array having n items can be improved
by

(A) Non-recursive method

(B) Randomization

(C) Recursive method

(D) None of these
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155. foaa oot &1 @1 9T GFAT ? array A

(-3:10, 5:12) 7 ?
(A) 91
(C) 112

(B) 119
(D) 104

156. I €l &R array A [1:5,2:7]. 9 A[2][3] &1

TdT HRIT BT ST SR 9T 500 B 3R Iq@
uferd TR T UTe foRa ST ®

(A) 501 (B) 506
(C) 507 (D) 508

Stack g
(A) T ARt G
(B) TIfcieh 3TTeheT ELEM1
(C) Fferee et T
(D) T8 | s e

few . postfix AB*CD/+ =1 prefix Tt
(A) +*AB/CD

(B) +A*B/CD

(C) +AB*C/D

(D) +AB*/CD

Queue 1 T L o feTt SEAT TR ST el
77

(A) Suweg

(B) sfhua

(C) Tk o

(D) st

157.

158.

159.

160. TR T queued front T &1 TH rear o

o SHIeR 3 a1 queue

(A) @reft 2

(B) &qof W ®

(C) T add T € dcd B
(D) ® Ush dcd & HehelT 2
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155.

156.

157.

158.

159.

160.

How many values can be held by an array
A (-3:10, 5:12) ?
(A) 91
(C) 112

(B) 119
(D) 104

Consider a two dimensional character
array A [1:5,2:7]. Assuming row major
order of storage determine the address of
element A[2][3] if base address is 500.

(A) 501 (B) 506
(C) 507 (D) 508
Stack is

(A) Static data structure
(B) Dynamic data structure
(C) Inbuilt data structure
(D) None of these

Find prefix of following postfix AB*CD/+
(A) +*AB/CD
(B) +A*B/CD
(C) +AB*C/D
(D) +AB*/CD

Queue can be used to implement
(A) DFS

(B) BFS

(C) Radix-Sort

(D) Recursion

In a queue if value of front pointer is equal
to rear pointer then queue

(A) Is empty
(B) Isfull
(C) Has one element

(D) May have one element
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